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86. How | envy the man who can always produce
his reading glasses at a moment's notice.

(a) begrudge (b) desire
(c) crave (d) covet
87. The munificence of the businessman was
great. o
(a) generosity (b) stinginess
(c) misery (d) tactfulness

88. The next day, she pacified the teacher
explaining her the reason for the previous
day's leave.

(a) quietend (b) silenced

(c) pleased (d) flattered

Directions: In each of the following questions,
choose the word opposite in meaning to the
given word

94, EXASPERATE

(c) Please
Directions:

(a) Belittle (b) Annoy

(d) Tarnish

Each of the following questions
consists of a word or phrase which is
jtalicised bold in the sentence given. It is
followed by certain words or phrases.
Select the word or phrase which is closest
to the opposite in meaning of the italicised

boid word or phrase.

. Lucy is a smart girl.

(b) lazy
(d) indecent

(a) casual
(c) active

_ Mr. Zohaib is a poted personality in the town.

(a) obscure
(c) notorious

(b) ostracised
(d) condemned

97. We have no doubt about the veracity of the
89. SORDID statement.
(a) Steady (b) Generous (a) truthfulngss (b) falsity
(c) Enthusiastic (d) splﬂﬂdid {C-) pl"ﬂpﬁ&t}' (d) morality
80. GRIM g8. Good actions cannot camoufiage one's bad
(a) Serious (b) Delightful qualities.
(c) Satisfying (d) Painful (a) exhibit (b) demonstrate
91. DEPLETE - (c) reveal (d) parade
(a) Fuifl (b) Replenish 9. His family has accumulated wealth over the
(c) Refund (d) Recover years. o g
(a) drained squan
o E?JoDli—siuade (b) Detract (c) amassed (d) dlsparsm:i
(c) Disclose (d) Confide 100.There was a marginal im:reaseli ir}blil|s Pay.
(a) unforeseen (b) negligible
% ;?TEE;LE (b) Successors (c) significant (d) peripheral
(c) Offspring (d) Ancestors
Answer Key
79. B g2. D
4. A 27. A 40, C 53. C 66. A
;: g & B 28 C 4. C 54 g o7. A gg g g‘i. ré
3. C 16. A 29. A 42 D . . . 5. :
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4 C 17. C 30. A 43, B 56. C o
' 70. A 8. A 96
5. C 18. B 3. B 44 B 57. D A
C 71. D 84. A 97.
6. D 19. D 32 A 45, D 58. . 2 0. .
7. D 200 D 33. C 46. B 59. A . , :
73. B 86. A 99.
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) D 22. D 35, C 48. B 61. C 74.
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RECRUITMENT TO THE POST OF INSPECTOR
(INVESTIGATION) MINISTRY OF INTERIOR (BS-16)

Case Number: F.4-123/2015
(Paper held in 2016)

1 the gun down carefully.
(A) Put (B) Putted
(C) Been putting (D) To put
2. The main problem Jim too many
parking tickets.
(A) Willhave been (B) Were
(C) Will have (D) Was

3. On Wednesday, Jamal and Jennifer were
called to the principal's office and praised for

helping a student who on the icy
sidewalk.

(A) Falls (B) Would fall

(C) Had fallen (P) Has fallen

4. The people who bought this old lamp at the

auction foolish,
(A) Was (B) Were
(C) Is (D) Has been
5. The little boy himself down on the
floor and threw a tantrum.
(A) Flings (B) Flinged
(C) Flung (D) Fling
6. There three different ways to
make perfect pie crust.
(A) Is (B) Are
(C) Was (D) Being

7. The noise from all the aeroplanes
louder in the aftemoon.
(A) Gets (B) Get
(C) Have gotten (D) Are getting

8 | the speech you gave last
Thursday night, but | was in bed with the fiu.
(A) Will have heard (B) Would hear
(C) Might hear (D) Would have heard

Fill in the blank with the correct adjective,
adverb, or pronoun.

8. in many popular movies today, the heroes are
armed than the villains.

(A) More heavily (B) More heavy
(C) Heavier (D) More heavier
10. That fine circus elephant now belongs to my
sister and .
(A) | (B) Me
(C) Mine (D) Myself
Replace the underlined portion with the phrase
that best completes the sentence. If the

. e

sentence is correct as is, choose (A).

wide v f di sons, mor
and _more_people are making the choice to
take public transportation.
(A) For a wide variety of different reasons,
more and more people
(B) For a variety of many reasons, much
more people
(C) For a number of reasons, more people
(D) More people, for various different reasons

12. e angle ' same e
measure, it is said to be congruent.

(A) When two angles have the same degree
measure, it is said to be congruent.

(B) When two angles has the same degree
measure, it is said to be congruent.

(C) Two angies with the same degree
measure is said to be congruent.

(D) When two angles have the same degree
measure, they are said to be congruent.

The likelihood of a region's experiencing an
earthquake can be estimated, earthquakes
cannot be accurately predicted.

(A) The likelihood

(B) Although the likelihood

(C) Since the likelihood

(D) In fact, the likelihood

14, fri n_Andre

began nd his family moved to Ohio.

(A) The friendship between Andre and Robert
began when he and his

(B) Andre and Robert's friendship began
when he and his

(C) The friendship among the two boys
Began when he and his

(D) The friendship between Andre and Robert
began when Robert and his

15. #ost of a human tooth is made up of a
substance known as dentin, which is located
directly below the enamel.

(A) Dentin, which is located

(B) Dentin, and which is located
(C) Dentin but located

(D) Which it is located

16. To determine the speed of automobiles, radar
e state poli

13.




17.

18.

19.

20.

va FPSC &

(A) To determine the speed of automobiles,
radar is often used by the state police

(8) To determine the speed of automobiles, it
is often necessary for the state police to
use radar.

(C) In determining the speed of automobiles,
the use of radar by stale police is often
employed

(D) To determine the speed of automobiles,
the stale police often use radar.

Everyone signed the petition before submitting
to the city counsel.
(A) Submitting
(C) You submit it

er Model Pa

(B) One submits it
(D) We submitted it

| have a cross-training exercise program: |
swim | lay tennis, t ight machin:
and bicycle riding.

(A) | swim laps, play tennis, the weight
machines, and bicycle riding.

(B) | swim laps, play tennis, lift weights, and
ride a bicycle.

(C) | swim laps, play tennis. | lift weights, and
bicycle riding is a change.

(D) Swimming laps, tennis, lifting weights,

and the bicycle.
Jackson  Pollack, a__ twentieth-century
merica inter, i ell-known __and
re for_creating ab: intings

dripping paint on canvas.

(A) A twentieth-century American painter, is
well-known and renowned for creating

(B) An American painter who lived and
painted in the twentieth century, is well-
known for the creation of

(C) Renowned and prominent, was known as
a twentieth-century American painter for
creating :

(D) A twentieth-century American painter, is
famous for creating

We all arrived at the theater on time, but
before we bought our tickets, Candace says
! e mi nd sn't want
to see the move after all.
(A) Says that she's changed her mind and
doesn't
(8) Said that she had changed her mind and
didn't
(C) Is saying that she'd changed her mind
and doesn't
(D) Told us that she is changing her mind and
didn't
PART-Il (GENERAL INTELLIGENCE TEST)

Select the correct answer and Fill in the
appropriate Box on the Answer Sheet.

21.

23.

24.

25.

26.

27.

28.

29.

Twelve men take 6 hours to finish a piece of
work. After the 12 men have worked for 1
hour, the boss calls in 8 more men. How many
more hours would 20 men take to complete
remaining work?
(A) 3

(C) 2

(B) 5
©) 4

. A person can do a work in 10 days but

another can do it in 15 days. In how many
days, they will complete task if work together?
(A) 5 (8 3
(C) 6 D)

The speed of the train going from Nagpur to
Allahabad is 100 km/h while when coming
back from Allahabad to Nagpur, its speed is
150 km/h. Find the average speed during
whole journey.

(A) 125 km/hr (B) 75 km/hr

(C) 135 km/hr (D) 120 km/hr

The averabe of a group of men is increased
by 5 years when a person aged of 18 years is
replaced by a new person of aged 38 years,
How many men are there in the group?

(A) 3 (B) 4

©) 5 (O) 6

A person paid 2% commission to the property
dealer when lie bought a land worth Rs. 8
crore and 75 lakhs. What is the amount of
commission paid?

(A) Rs. 1350000 (B) Rs. 1450000

(C) Rs. 1650000 (D) Rs. 1250000

Avif, Hafiz and Haider share Rs. 2560. Hafiz's
share is four times sis much as Ariifs and
Arif's share is one-third of Haider's how much
is the share of Arif?

(A) Rs. 320 (B) Rs. 300

(C) Rs.310 (D) None of these

Five years ago, the average age of A, B, c
and D was 45 years, with E joining them now,
the average of all the five is 49 years. How old
is E?

(A) 25 years (B) 40 years

(C) 45 years (D) 64 years

The width of a rectangle is twice the size of its
length. The length is increased by 30% and
width is increased by 20%, what will be the
percentage change in the area of rectangle?
(A) 4.51 (B) 3.87

(C) 5.1 (D) None of these

If the 10 % of daily wagers were fired while
540 workers survived, how many workers
were originally there?
(A) 700
(C) 580

(B) 650
(D) 600

31.

32.

33.

35.

37.

38.

38.

If 11 students in a team have respective
weights of 46 kg, 47 kg, 45.5 kg, 46.5 kg, 50
kg, 47 kg, 48 kg, 47.5 kg, 46 kg and 47.5 kg,
what will be the average weight in the team?
(A) 48.27 kg (B) 49.27 kg

(C) 47.27 kg (D) 46.27 kg

The price of one egg is Rs. § and in a tray
about 30 eggs can be placed. What will be the

price of 7 trays of eggs?
(A) Rs. 850 (B) Rs. 950
(C) Rs. 1050 (D) None of these

A retailer bought a product from producer for
Rs. 300 and paid sales tax of 15% and sold
the product to customer for Rs. 410. Calculate
the profit

(A) Rs. 65 (B) Rs. 55

(C) Rs. 50 (D) Rs. 60

If a motorbike is sold for Rs. 60,000 and the
proft was 18 %, what would be the
percentage profit if vehicle was sold for Rs.
55,0007

(A) 8.1%
(C) 89%

(B) 7.3%
(D) 6.5%

. The circumference of circle is divided into

degrees.
(A) 180 (B) 270
(C) 360 (D) 30
An angle = 90 degree is called:
(A) Right angle (B) Obtuse angle
(C) Acute angle (D) None of these

. A school has only four classes that contain

10, 20, 30 and 40 students respectively. The
pass percentages of these classes are 20%,
30%, 60% and 100% respectively. Find the

pass % of the entire school.
(A) 56% (B) 76%
(C) 34% (D) 66%

in a set of three numbers, the average of first
two numbers is 2, the average of the last two
numbers is 3 and the average of the first and
the last numbers is 4. What is the average of
three numbers?

(A) 2 (B) 2.5
©) 3 (D) 3.5
The average of first five multiples of 3 is:
(A) 8 (8) 10
C) 8 (D) 11

If the age of Irfan’s father is three times more
than that of Irfan's and the sum of ages (in
years) of both people is equal to the perfect
square of 8, then what will he the age of Irfan?
(A) 18 years (B) 17 years
(C) 16 years (D) 24 years

40.

41,

42,

43.

45,

47.

48.

49,

50.

51.
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ISoIve the following equation for the value of

X

2x+4y=12, x+y=4
(A) 1 (8) 3
© 2 (D) 0.5

Pakistan has become non-permanent member
of Security Council® for:

(A) Five times (B) Two times

(C) Three times (C) Six times

The first constructed barrage of Pakistan is:

(A) Jinnah barrage (B) Sukkur barrage
(C) Tunsa barrage (D) None of these

Who was the first viceroy of India?
(A) Lord Ripon (B) Lord Canning
(C) Lord Curzon (D) None of these

ation Agen

. East India Company was established in:

(A) 1603 (B) 1602
(C) 1600 (D) None of these
Asian Development Bank was established in:
(A) 1964 (B) 19686
(C) 1968 (D) 1960
. The Headquarters of Asian Development
Bank is in:
(A) Tokyo (B) Bangkok
(C) Manila (D) Jakarta
Pakistan left CENTO in:
(A) 1971 (B) 1975
(C) 1979 (D) 1977

Former US Vice-President Al Gore has won
Nobel Peace Prize 2007 for his campaign
against:

(A) Child Labour

(B) Human Rights Violations

(C) Global Warming

(D) None of these

The first President of America who made an
official visit to Pakistan was: .
(A) Richard Nixon

(B) Dwight D. Eisenhower )

(C) Lyndon R. Johnson

(D) None of these

Who were the three statesmen who
formulated Non-aligned Movement?

(A) Gandhi, Naseer, Tito

(B) Nehru, Naseer, Tito

(C) Chou-en-lai, Bhutto, Nehru

(D) SoeKarno, Naseer, Tito

The author of “The Spirit of Islam” is:

* Pakistan has been member of the Security Council on
seven occasions In 1952-1953, 1968-1969, 1976-1977,
1983-1984, 1993-1994, 2003-2004 and 2012-2013




166

53.

55.

57.

59.

60.

61.

Advanced

(A) Sir Syed Ahmed Khan
(B) Syed Amir Ali

(C) Allama Ighal

(D) Safdar Mahmood

In which month does the U.N General
assembly usually meet every year?

(A) January (B) September

(C) March (D) April

Who is the governor of the state bank of
Pakistan?

(A) Shamshad Akhter

(B) Yaseen Anwar

(C) Ashraf Mahmood Wathra

(D) Zahid Hussain

Model Papers

. Mac Mohan line is frontier line between:

(A) Pakistan and India

(B) Pakistan and Afghanistan
(C) India and Bangladesh

(D) India and China

Which of the following countries does not

have a written constitution?
(A) England (B) US.A
(C) Russia (D) France

When was the Magna Carta signed by the
Kind John of England?

(A) 1217 (B) 1215

(C) 1066 (D) 1212

A democratic government is based on:
(A) Minority rights and majority rule
(B) Majority rights and minority ruie
(C) Majority rules (only)

(D) Minority rights (only)

. The Treaty on Accession of the Republic of

Crimea to Russia was signed on:
(A) 18th February 2014

(B) 18th March 2014

(C) 24th February 2014

(D) None of these

Secretary General UNO Ban-Ki-Mon belongs
to:

(A) South Korea (B) North Korea

(C) Japan (D) China

Along which coast of india a 45-day long ban
on fishing was imposed from the midnight on
14 April 20147

(A) East Coast

(B) West Coast

(C) Along the coast of A & N Islands

(D) Both (A) & (B)

Who was the first President of Constituent
Assembly?

(A) Liaquat Ali Khan

(B) Quaid-e-Azam

62.

63.

66.

67.

68.

70.

71.
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(C) Moulvi Tameez-ud-Din
(D) Sardar Abdur Rab Nishtar

After how many years did Pakistan get her
first constitution?

(A) 5years (B) 7 years

(C) 9 years (D) None of these

What document was firstly drafted to give
pace to constitution making process?

(A) Representative Act

(B) Pakistan Act

(C) Independence Act

(D) Objective Resolution

When the Constituent Assembly passed the
Objective Resolution?

(A) 14th February 1849

(B) 12th march 1948

(C) 9th June 1948

(D) 15th August 1949

When Mohammad Ali Bogra presented Bogra
Formula ih the assembly?

(A) January 1953  (B) April 1853

(C) September 1953 (D) October 1953

What is the other name of Mohammad All
Bogra Formula?

(A) New Law of Pakistan

(B) Pakistan Report

(C) Third Report

(D) Constitutional Formula

When first constitution of Pakistan
enforced?

(A) 8th June 1956

(B) 23rd March 1956

(C) 14th August 1956

(D) None of these

Who was the Prime Minister of Pakistan
during enforcement of first constitution?

(A) Mohammad Ali Bogra

(B) Khawaja Nazim Uddin

(C) Chaudhry Mohammad Ali

(D) lbrahim Ismail Chundrigar

What official name was given to Pakistan in
1956 constitution?

(A) -United States of Pakistan

(B) Republic of Pakistan

(C) Islamic Pakistan

(D) Islamic Republic of Pakistan

What age was prescribed for President in
1956 constitution?

(A) 40 years (B) 45 years

(C) 50 years (D) 55 years

What was the name of Imam Bukhari (R.A)?
(A) Muhammad bin Ismaeel
(B) Muhammad Ismaeel

was

72.

73.

74.

75.

76.

77.

78.

79.

80.

(C) Muhammad lbraheem
(D) !smaeel bin lbraheem

Prophet Muhammad (PBUH) had
SONS.

(A) 1

(B) 2
©) 3 D) 4

What was the relation between Prophet

Moosa (A.S) and Prophet Haroon (A.S)?

(A) Prophet Moosa (A.S) was father of
Prophel Maroon (A.S)

(B) Prophet Haroon (A.S) was father of
Prophet Moosa (A.S)

(C) Brothers

(D) Cousins

In the “Sacrilegious wars®, when Prophet
Muhammad (PBUH) was 20 years of age,
Quraish and their allies were led by:

(A} Abu Jahal

(B) Abu Lahab

(C) Umayah bin Khalaf

(D) Harb bin Umayah

To what Prophet the Zabur was revealed by
Allah?

(A) Prophet Ibralieem (A.S)

(B) Prophet Dawood (A.S)

(C) Prophet Moosa (A.S)

(D) Prophet Essa (A.S)

To what Prophet the Injeel was revealed by
Allah?

(A) Prophet Ibraheem (A.S)

(B) Prophet Dawood (A.S)

(C) Prophet Moosa (A.S)

(D) Prophet Essa (A.S)

What companion of Prophet (PBUH) was
awarded with the title of “The Sword of Allah™?
(A) Abu Baler Siddique (R.A)

(B) Umar Parooque (R.A)

(C) Ali Al-Murtaza (R.A)

(D) Khnlid bin Waleed (R.A)

What companion of Prophet .(PBUH) was
awarded with the title of “The lion of Allah™?
(A) Umar Farooque (R.A)

(B) Ali Ai-Murtaza (R.A)

(C) Hamza bin Abdul Mattalib (R.A)

(D) Khalid bin Waleed (R.A)

Prophet Muhammad (PBUH) belonged to
family. ¢

(A) Hashmi (B) Quraishi

(C) Makki (D) Madni

The color of the first Islamic flag was:

(A) White (B) Black

(C) White and Black (D) Green

81.

82,

83.

84.

85.

86.

87.

88.

90.

91.

92,
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Person with following blood group are
considered to be universal recipient:

(A) A+ (B) B+

(C) O+ (D) None of these

Which of the following is most elastic?
(A) Steel (B) Rubber
(C) Glass (D) None of these

The name of common mineral salt present in
sweat is:

(A) Calcium Oxalate

(B) Potassium sulphate

(C) Sodium Chloride

(D) None of these

Sensitive layer of the eye is:
(A) Choriods (B) Sclerotic
(C) Retina (D) None of these

Diamond is a very expensive ornament. It is
composed of a single element:

(A) Carbon (B) Gold

(C) Silver (D) None of these

Dr. Abdus Salam of Pakistan was one of the

contributors of the unification of:

(A) Electromagnetic force and gravitational
force

(B) Electromagnetic force and weak nuclear
force

(C) Gravitational force and weak nuclear
force

(D) None of these

Which triplet in DNA codes for valine?

(A) CTT (B) AGU

(C) CAT (D) None of these
The number of spark plugs needed in a diesel
engine is:

(A) 2 (B) 3

€ 0 D) 4

Which of the following is not a part of
Darwinism?

(A) Over production

(B) Natural selection

(C) Inheritance for acquired characters

(D) None of these

Role of biotechnology in the production of
food based on:

(A) Decomposition (B) Respiration

(C) Digestion (D) None of these

Who proposed the concept “All motion is
relative™?

(A) Albert Einstein (B) Isaac Newton

(C) Galileo Galilei (D) Alfred Mahan

The sunlight can reach a depth of how many
meters in the ocean:

(A) 100 (8) 80
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(C) 120 (D) None of these (A) Saudi Arabia (B) ltaly
93. The biggest species of the cat family is: (C) Japan (D) None of these
(A) Tiger (B) Lion 97. Atom is made up of how many different kinds
(C) Leopard (D) None of these of subatomic particles:
94. The chemical name of quartz, is: (A) Three (B) Two
(A) Silicon Dioxide (B) Stannous Oxide (C) Pour (D) None of these
(C) Aluminum Oxide (D) None of these 98. Vacuum tubes have been replaced by:
' - ina: B) Diodes
95. Deuterium differs from Hydrogen in having: (A) Conductors (
(A) Different atomic number but same atomic (C) Transistors (D) None of these
weight 99. Light Year is associated with:
(B) Different atomic number and different (A) Time (B) Distance
. atomic weight (C) Frequency (D) None of these
(C) Sali'n:tatumic number and dﬁmant atomic 100.0mer Khayyam was a:
5 ‘r'fﬂ of th (A) Poet (B) Mathematician
(D) None of these (C) Astronaut (D) All of these
96. Equator passes through one of these
countries:
Answer Key
1. A 14. D 27. C 40. C 53. C 66. D 79. A 92. D
2. C 15. A 28, D 41. 7 54 D 67. B 80. A 93. A
3. C 16. C 29. D 42, B 55. A 68. C 81. D 84. A
4. B 17. D 30, C 43. B 56. B 69. D 82. A 95. C
5. C 18. B 31. C 4. C 57. C 70. B 83. C 96. D
6. B 19. B 32. A 45. B 58. B 1. A 84, C 97. A
7, A 20, B 33. A 46. C 5. A 72. C 85. A 98. C
8. C 21, A 4. C 47. C 60. A 73. C 866. B 98. B
9. A 22, B 3. A 48, C 61. B 74. D 87. D 100. D
10. A 23. D 3. D 49. B 62. C 75. B 88. C
1. C 24, B 37. C 50. B 63. D 76. D 89. A
12. D 25. A 38. A 51. B 64 B 77. D 90. D
13. A 26, A 39. C 52. B 65. D 78. C 91. A
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1. Short-sightedness can be corrected by: used Is:
(a) Convexlens (@) Helium (b)Hydrogen
(b) Concave lens (c) Oxygen (d) None of these
(c) Convex-concave lens
(d) Concave-convex lens 5 mkc:?gas is used in the preparation of soft
2. The raw material used for the manufacture of (a) Oxygen (b)Carbon dioxide
Glass and Cement is: (c) Nitrogen (d) Halogens
(a) Clay (b) Gypsum ,
goda 6. Why are soft drinks made with chilled water
(&) Washing (d)Limestons rather than water at room temperature?
3. What are the primary colours? (a) Ingredients dissolve better in chllled water
(a) Blue, green, yellow (b) Chilled water enhances the taste
(b) Yellow, red, blue (c)Chilled water attracts more carbon dioxide
(c) Red, blue, green (d) Chilled water is more hygienic
(d) Red, blue, Orange 7

4. Inthe manufacture of banaspati ghee, the gas

Typhold and cholera are typical examples of:

—I-h-—

10.

11.

12,

13.

14.

15.

16.

17.

18.

(a) Hydel

(a) Infection diseases
(b) Air-bomne diseases
(c)Water-borne diseases
(d) None of these

The cheapest source of electricity Is:
(b) Nuclear
(c) Solar (d) Thermal

Omithology is the science which deals with:
(a) Study of bones (b)Study of birds
(c) Studyof smells (d) None of these

The filament of an electric bulb is made of:
(a) Carbon (b) Iron
(c)Tungsten (d) None of these

Which one of the following elements is found
common in glass, cement, china clay and

quartz?

(a) Carbon (b)Silicon

(c) Calcium (d) None of these
What are Vaccines?

(a) Same as monoclonal antibodies

(b) Treated bacteria or viruses or one of their
proteins

() MHC proteins

(d) Strands of nucleic aclds

Which of the following is an alloy?

(a) Gold (b) Zinc

(c) Tin (d)Bronze

The unit for measuring intensity of noise is
called:

(@) Knot (b) Calorie

(c) Ohm (d)Decibel

Which of the following will you use to remove

' rust stains on cloth?

(a) Kerosene ol

(b) Oxalic Acid solution
(c) Alcohol

(d) None of these

Crimean Peninsula is disputed between
Russia and:
(a) Colombo (Sri Lanka)
(b) Ukraine

(¢) Kathmandu (Nepal)

(d) None of them

Gibraltar is disputed between United Kingdom
and.

(a) Spain

(b) Colombo (Sri Lanka) ’
(c) Kathmandu (Nepal)

(d) None of them

Abkhazia Is disputed between Republic of
Abkhazia and:

(a) Dhaka (Bangladesh)
(b) Colombo (Sti Lanka)
(c) Georgia

(d) None of them

Federal | 169

19. The West Bank and eastern Jerusalem are
disputed between Israel and:
(a) Palestinian Authority
(b) Dhaka (Bangladesh)
(c) Colombo (Sri Lanka)
(d) None of them

20. River Mekong is disputed between Thailand
and:
(a) Japan
(b) Vietnam & China
(c) S.Korea
(d) China

21.The pancreas secretes:
(@) Insulin (b) Vitamin A
(c) Bile juice (d) None of these

22.The seat of memory in the human brain is
located in the:
(a8) Medulla oblongata
(b) Cerebrum
(c) Cortex
(d) Cerebellum

23.The outermost layer of skin is known as
(a) Epidermis (b) Epiglottis
(c) Ligament (d) Cartilage

24.Tibia is a bone found in the

(a) Skull (b) Am
() Leg (d) Face
25. The strongest muscle in the human body is:
(@) Jaw (b) Thigh
(c) Calf (d) Upperam

26. Vertebral column in human beings consists of
how many vertebrae
(b) 10

(@ &
(© 12 (d) 33

27.How many pairs of ribs are attached to the
upper part of the vertebral column?
(@ 10 (b) 12
() 13 (d) 33

28.Femur, tibia and fibula are bones of:
(a) Pectoral girdle (b) Hip girdle
(c) Amms (d) Legs

29. Relevant bones of the joints are held together

[ai Tendons (b) Ligaments
(¢) Flexors (d) Extensors

30. The smallest cells in the human body are
(a) muscle cells (b) nerve cells

(c)blood cells (d) epithelial cells

31. Which incident took place on 24th September
622 AD in the life of Prophet Muhammad
(SAW)?

(@) He migrated to Madina
(b) He fellill

(c) He was attacked

(d) He was stopped to travel




32.

33.

35.

37.

39.

41.

42,

A F a

‘Miraj Shareef, event occurred on:
(a) 18 Rajab (b) 20 Ramadan
(¢) 27 Rajab (d) 20 Shawl

How many verses of Surah Al-Alaq were first
revealed on the Holy Prophet (PBUH)?

(@ 3 ®) 5
(c) 8 (d) 12
. When did the Holy Prophet (PBUH) perform
“Hajjat-ul-Wada"?
(a) 630AD (b) 632 AD
(c) 633 AD (d) 638 AD

Name the first non-Arab who embraced
Islam?

(a) Hazrat Awais Qami (RA)

(b) Hazrat Bilal Habshi (RA)

(c) Hazrat Farwah bin Umro Al Jazami (RA)
(d) Hazrat Usamah bin Zaid (RA)

. How many Ahadis does the Sahih Bukhari

contain?
(a) 6654 (b) 7654
(c) 7855 (d) 7397

Who was the first poet rewarded by the Holy
Prophet (SAW)?

(a) Abu Jandal

(b) Kaab bin Zuhair

(c) Usamah bin Zaid

(d) Maalik bin Dinar

Name the first Muslim who was fully satisfied
in the matter of Sulahe-e-Hudaibiya?

(a) Hazrat Abu Bakar (RA)

(b) Hazrat Usman (RA)

(c) Hazrat Ali (RA)

(d) Hazrat Umar (RA)

Name the first authority for the compilation of
Ahadis?

(a) Imam Maalik

(b) Imam Bukhari

(c) Imam Ahmad

(d) Imam Abu Hanifa

Whose nation was exterminated through the
scourge of floods?

(a) Hazrat Loot (AS)

(b) Hazrat Nuh (AS)

(c) Hazrat Yaqoob (AS)

{(d) Salih (AS)

Central Asia became the part of Muslim
Empire during the reign of:

(a) Yazid

(b) Waleed |

(c) Khalid bin Waleed

(d) None of them

The conqueror of Central Asia was:
(a) Khalid bin Walled

(b) Qutayba bin Muslim

{¢) Muhammad bin Qasim

(d) None of them

47.

49,

50.

51.

. The last caliph of Ummayyads was:

(a) Yazid Il
(c) Hisham

(b) Marwan Il
(d) None of them

. The foundation of the city of Baghdad was laid

in 762 during the reign of Abbasid caliph
(a) Abu Muslim (b) Al Mansoor
(c) Al Mahdi (d) Adul Abbas

The nation of Samood was preached by:

(a) Hazrat Yaqoob (AS)

(b) Hazrat Salih (AS)

(c) Hazrat Ibrahim (AS)

(d) Hazrat Uzair (AS)

How many radio station are working in the

country under the Pakistan Broadcasting
Corporation?

(a) 40 (b) 38
(c) 39 (d) 36
Largest radio station found in Pakistan is:
(a) Multan (b) Karachi
(c) Lahore (d) Islamabad
. Who was the ¥iceroy of India from 1899 to
19057
(a) Lord Curzon (b) Lord Mountbatten
{c) Lord Irwin (d) Lord Attlee

When first general elections were held in
Pakistan?

(a) Dec5, 1970 (b) Dec?7,1970

(¢) Dec 10, 1970 (d) Dec 11, 1970

Pakistan's major seasons for agricultural
crops are

(a) Kharif and Barani

(b) Kharif and Rabi

(c) Barani and Rabi

(d) Kharif, Rabi and Barani

The deputation of Muslim leaders to the
Viceroy, Lord Minto Il, seeking separate
electorate was headed by

(a) Sir Syed Ahmad Khan

{b) Agha Khan

(c) M.A.Jinnah

(d) Maulana Shaukat Ali

. Who wrote Sassi Pannu?

(a) Hashim Shah
(c) Waris Shah

(b) Bulhe Shah
(d) None of these

. Who wrote Sohni Mahiwal?

(a) Bulhe Shah
(c) Fazal Shah

(b) Waris Shah
(d) None of these

. Who wrote Qissa-Ahsan al-Qissas?

(a) Hashim Shah  (b) Ghulam Rasool

(¢) Bulhe Shah (d) Waris Shah

. Heavy Mechanical Complex, Taxila was set
up with the aid of

(a) China (b) Japan

(c) USA (d) UK

. Who is the author of “India Wins Freedom™?

57.

58.

(a) Maulana Abu-Kalam Azad
(v) Munshi Lala gee

(c) Fazal Mugeem

(d) 1H.Qureshi

Medium range missile Abdali was first
launched on -

(a) April25,2003 (b) March 28, 2003
(c) March 26,2003 (d) March 24, 2003

Gaznvi which is also called Hatf-lll was

successfully launched on

59.

61.

62.

63.

€5.

67.

(a) October 18, 2003
(b) October 16, 2003
(c) October 03, 2003
(d) October 23, 2003

When French built Agosta 80-B was inducted
in Pakistan Navy

(a) September 25, 1999

(b) September 13, 1999

(c) September 0€, 1889

(d) September 14, 1999

Name the largest Island found in Pakistan
(a) Omara (b) Bhura
(c) Astola (d) Manora

Which one of the following is the largest
sector of Pakistan's economy?

(a) Industry (b) Banking

(c) Agriculture (d) Manufacturing

Which one is the dominant source of foreign
exchange eaming?

(a) Textile (b) Foreign remittance
(c) Agriculture (d) Manufacturing

A basketball team won 18 out of 30 games
played. What percentage of marks did he
score?

(a) 60% (b) 40%
(c) 43% (d) 87%
. Mangla Dam was completed in:
(a) 1968 (b) 1970
(c) 1969 (d) 1967

Ali gained 18 numbers in monthly test who
consist of 50 marks what percentage of marks

he gained?
(b) 36%

(a) 51%
(c) 48% (d) 64%"

. A covered 8km distance out of 10000m what

percentage of distance A covered?
(a) 51.89% (b) 80% ¢
(©) 67% (d) 41%

A U.S. citizen said to be a consultant for the
U.S. Consulate in Lahore, on January 27,
2011 killed two Pakistanis in Lahore. The
name of killer is:

(a) John Dory

(b) William Allen

(c) Nick Burns

68.

69.

70.
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(d) Raymond Davis

The extinct volcano ‘“Koh-i-Sultan” in
Baluchistan contains the deposits of:

(a) Chromite (b) Sulphur

(c) Gypsum (d) Bauxite

Name the king who fell from the horse while
playing Polo and died.

(a) Akbar

(b) Muhammad Ghori

(c) Zaheer-ud-Din Babar

(d) Qutbuddin Aibak

If the average of three numbers is V. If one
of the numbers is Z and another Is Y, what
is the remaining number?

A.ZY -V B.ZV-3-Y
C.23-V-Y D.3v-Z-Y

Directions: In each of the foliowing questions,
out of the given alternatives, choose the one
which best expresses the meaning of the given

word
71. ENIGMA

(a) Puzzle (b) Clear

(c) Elusive (d) Praise
72. FILTHY

(a) Healthy (b) Ugly

(c) Dirty (d) Angry
73. NOSTALGIC

(a) Soothing (b) Homesick

(c) diseased (d) Indolent
74. OVERSEF

(a) Supervise (b) Chance

(c) Contest (d) Look
75. BURLESQUE

(a) Mock (b) Irritate

{c) Insult (d) Annoy
76. FOSTER

(a) Encourage (b) Fabricate

(c) Foment (d) Nurture
77. DECIEVE

(a) Mislead (b) Challenge

(c) Harm (d) Defeat
78. COMPUNCTION

(a) Anger (b) Appreciate

(c) Regret (d) wonder

Directions: In each of the following questions,
out of the glven aiternatives, choose the one
which best expresses the meaning of the
italicised bold part of the sentence

79.

The District Collector made it clear that the
Govenment cannot sustain for long the
support for such schemes.

(a) manage (b) succeed

(c) pay (d) continue

(e) subsidise
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80. The most common type

81.

82.

83.

84,

85.

of colour blindness
bllity to tell red from green.
(b) detect

el e (d) extract

(c) distinguish

The collection of poems, in a slim volume, is

gleaned from several anthologies of ancient

Indian poetry.

(a) gathered (b) extracted

(c) compiled (d) copied

Even today many people are guided by
moral values.

(a) irrational (b) obscure

‘(c) Impracticable (d) dangerous

As the jockey tried to ride the horse, it

suddenly went berserk.
(a) broke the carriage

(b) on a galloping speed
(c) became uncontrollably wild
(d) began to kick back

Feeling humiliated and frustrated, he could no
longer brook the indifferent attitude of the
government.

(a) tolerate (b) support

(e) condone (d) suffer

The incident was a grim reflection or the
bizarre things that go on in the village.

91,

92.

93.

(a) Stupid (b) Uneducated
(c) Ignorant (d) !nexperienced
DISDAIN

(a) Depreciate (b) Admiration
(c) Penitence (d) Contempt
OBSOLETE

(a) Recént (b) Rare

(c) Useless (d) Conducive
ZANY

(a) Cautious (b) Calculating
(c) Cunning (d) Sane

Directions: Each of the following questions
conslists of a word or phrase which is italicised
bold in the sentence given. It is followed by
certain words or phrases. Select the word or
phrase which Is closest to the opposite in
meaning of the italicised bold word or phrase.

84,

M. Ahmad is always jeered at by his
companions.

{a) praised (b) scomed

() mocked (d) mourned

Their team bore delinquent participants.
(a) reverent (b) uncivil
(¢) quarrelsome (d) law abiding

In ancient history, scholars had no interest in

(a) summary (b) comment political power or material growth.
(¢) picture (d) portrait Ea; cali?i:.tlizll Eld:}; pnieychlclt
c) sp interna
: the following questions, * i
E;;r::fm:{;::l‘o:;ﬂs?h in mafn?:g to the | 97. The two girls are always together. There is a
given word great affinity between them. "
| ' (a) apathy (b) empathy.
% ;?wnﬁva (b) Conciliation (c) antipathy (d) sympathy
98. He confessed having done a mistake.
() Pacifist (d) Pigeon (a) granted (b) conceded
87. g’;"’g:ﬁ;”fus ©) Straight (©) acknowledged (d) concealed
99. There are reports that many poor people
88 f::s::nn:‘vm ) @ Almelve abanrlais fomale enidrer
' (@) Sanity (b) Normality (@) Eka Edg rhaéle
(©) Lucidity (d) Sobriety () keep P
100.Unity of thought and action has been the basis
89. IMMEDIATE Gradual of India's strength and stability.
() Delayed (o) Sradua (@) Diversity (b) Bias
() Leisurely (d) Slow (c) Division (d) Weakness
90. INVETERATE
00000440404
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1. B 9. B 17. A 25. B 33. B 41. B 49. B 57. C
2, D 10. C 18. C 26. D 34. B 42. B 50. B 58. C
3. C 11. B 19. A 27. B 3. C 43. B 51. B §9. C
4, B 12. B 200 B 28. D 3. D 44. B 52. A 60. C
5. B 13. D 2. A 20, B 37. B 45. B 53, C 61. C
6. C 14. D 22. C 30, C 38. A 46. D 54. B 62. C
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1. Where the 1st Champions Trophy of Hockey Maulana Abu-Kalam-Azad in:
was played? (A) July 1913 (B) July 1914
(A) SriLanka (B) Wea:.t Indies (C) July 1912 (D) April 1916
(C) Australia (D) Pakistan 11. Quaid-e-Azam joined Muslim League in:
2. Tasmania separated from Australia by: (A) 1913 (B) 1914
(A) Bering Strait (B) Bass Strait _ (C) 1911 (D) 1916
(C) Gibra.lta.r (D) Harmoz Strait 12. One unit dissolved on:
3. Ergophobia is a fear of (A) 1stJuly 1970 (B) 1st July 1971
(A) Everything (B) Work (C) 1stJuly 1972 (D) 1st July 1973
(C) Wealth (D) None of these 13. East Pakistan was separated from rest of the
4. The Conference of Head of States of country
OIC is convened every (A) 16th December 1970
(A) 2 years (B) 3 years (B) 16th December 1971
(C) 4 years (D) 5 years (C) 16th December 1972
5. Hepatitis and jaundice are the diseases of (D) 16th Dac.embar 1973
(A) Heart (B) Brain 14. ‘Monarchy’ still exists in:
(C) Liver (D) Alhazen (A) Thailand (B) Japan
6. Wall Street is famous for: (C) None ofthese (D) Botha &b
(A) Banking, finance and stock exchange 15. Dr. Ahmad Sukamno was the President of
(B) Sports goods (A) Malaysia (B) Indonesia
(C) Jewellery (C) Maldives (D) None of these
(D) None of these 16. The Declaration of Independence of the
7. Famous . American Colonies was adopted by the
bom in poet of English Shakespeare was Constitutional Congress on July 4, 1776 at:
(C) 1564 (D) 1574 (C) Chicago (D) Philadelphia
8. Which was a centre of culture and learning for 17. For how many years Mughal Kings ruled over
a thousand years from 500 BC to AD 5007 India?
(A) Harappa (B) Mohenjodaro 0 (A) 290 (B) 370
(C) Taxila (D) None of these ©) 275 (D) 331
8. Maulana Muhammad Ali Johar issued 18. I:F Magna Carta was signed by King John
Comrade English newspaper from Culcata '
(A) 27th January1912 () 15th June 1215
(B) 14th January 1911 (B) 15th August 1225
(C) 27th January1911 (C) 15th June 1235
(D) 27th January1912 (D) None of above
10. “Al-Halal” Urdu newspaper was issued by 19. Marco Polo was the famous
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(A) Traveller (B) Scientist

(C) Politician (D) None of above
20. Derawar Fort is located near:

(A) Multan (B) Bahawalpur

(C) Jehanian (D) Ahmadpur

21. Who was the founder of Democratic Party of
USA?
(A) Frankiin Roosevelt
(B) Thomas Jefferson
(C) Kennedy
(D) George Washington

22. Alight year is:
(A) 8.46 trillion kilometers
(B) 9.46 trillion kilometers
(C) 10.48 trillion kilometers
(D) None of these

23. Nightingale Florence (belongs to France) was
a:

(A) Soldier (B) Nurse

(D) Reformer (D) Driver

24. When Pakistan won gold medal for the first
time in Olympics?
(A) 1960 (B) 1961.
(C) 1962 (C) 1963

25. Who was the first Governor of State Bank of
Pakistan? _
(A) Ishrat Kamal (B) Saeed Hamn:!
(C) Zahid Hussain (D) Rashid Naqvi

28. The first Pakistani Postal stamp was issued in:
(A) September 1947 (B) August 1948
(C) December 1847 (D) July 1948

27. A colour television set makes colours by
mixing light of which three different colours?
(A) Blue, Green and Yellow
(B) Blue, Red and Yellow
(C) Blue, Green and Red
(D) Green, Black and Red

28. The European Union was established with its
headquarters at Brussels in
(A) 1954 (B) 1957
(C) 1956 (D) 1955
29. The highest peak of Karakoram Range is
(A) Pamir (B) Nanga Parbat
(C) K-2 (D) Rakaposhi
30. International Day of Solidarity with the
Palestinian People is observed every year on
(A) 23rd November (B) 21th November
(C) 25th November (D) 28th November

31. Justice delayed is Justice:
(A) Denied (8) Delayed

(C) Condemned (D) All of these .

32. National Police Bureau consists on how many
members including chairman?

(A) Four (B) Five
(C) Six (D) Seven
33. Which is the secret agency of Afghanistan?
(A) RAW (B) CIA
(C) Mosad (D) Khad
34. DAS is a secret agency of:
(A) Bulgaria (B) Canada
(C) China (D) Colombia

35. Where are the headquarters of FBI?
(A) Philadelphia (B) New York
(C) Washington DC (D) New Orleans

368. From which place close to its headquarters
did London's Metropolitan Police derive the
name Scotland Yard?

(A) Acastle
(B) A tower
(C) A small, enclosed field in Whitehall
(D) A churchyard
37. When was Scotland Yard formed?
(A) 29 September 1829
(B) 18 June 1826
(C) 22 February 1824
(D) 7 December 1815

38. DRM (Directorate of Military Intelligence) is a

secret agency of:
(A) Germany (B) France
(C) Estonia (D) Finland
39. Inter-Services Intelligence (ISI) is a secret
agency of:
(A) Norway (B) Pakistan

(C) Philippines (O) Poland
40. VEVAK is a secret agency of:

(A) Gambia (B) Germany
(C) Ghana (D) Iran
41. Which is the secret agency of India?
(A) RAW (8) CIA
(C) Mosad (D) Khad
42, Which is the secret agency of USA?
(A) RAW (8) CIA
(C) Mosad (D) Khad

43. Who directed the film “Jurassic Park"?
(A) Robert Browning (B) Bob Wordward
(C) Steven Spielberg (D) None of these

44. “In the Line of Fire” is the autobiography of:
(A) General Pervez Musharraf
(B) Paul Kennedy
(C) Jeorge W. Bush

www.facebook.com/groups/sindh.jobs.portal

(D) None of these

45. Which country has received maximum Nobel
prizes after its institution?

(A) Germany (B) France
(C) USA (D) UK.
46. Which is the second smallest country of the
world?
(A) San Mareno (B) Maldives
(C) Monaco (D) Bermuda

47. Hazrat Lal Shahbaz Qalandar is buried in:
(A) Kasur (B) Pakpatan
(C) Swhwan Sharif (D) Multan

48. East India Company established in:
(A) 1578 (B) 1614
(C) 1600 (D) 1609

49. Bernier visited India during the reign of:
(A) Akbar (B) Jahangir
(C) Shahjahan (D) Aurangzeb

50. Which place is called “city of seas"?
(A) Sydney (B) Tokyo

(C) Karachi (D) None of these
51. ‘Riksdag' is the Parliament of

(A) Iran (B) Iraq

(C) Sweden (D) United States
52. The Tomb of Rukn-e-Alam is in:

(A) Bahawalpur (B) Hasan Abdal

(C) D.G. Khan (D) Muitan

53. First country who issued currency notes in the
world:

(A) Greece (B) China
(C) Italy (D) Russia
54. Kremlin is a fortress where there are

government offices, palaces and churches is
in:

(A) Japan (B) China
(C) Russia (D) Thailand
55. Which gas is used in decoration lighting?
(A) Oxigen (B) Hydrogen
(C) Nitrogen (D) Neon
56. Which of the following rivers is also called
yellow river?

(A) Hawang Ho River(B) Nile River
(C) Amazon River (D) None of these

57. Colorado is a river which flows in:

(A) USA (B) UK
(C) Peru (D) Brazil
58. The Lal Suhanra National Park is located
near;
(A) Muitan (B) Bahawalpur

(C) Ahmadpur East (D) D.G. Khan
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58. The Grand Trunk Road was built by:
(A) Jahngir (B) Sher Shah Suri
(C) Bubar (D) Akbar
80. Fraizi Movement was started by Haji Shariat
Ullah in Bangal in
(A) 1835 (B) 1823
(C) 1828 (D) 1865
61. During the Mughal period which one of the
following traders first came to India?
(A) Portuguese (B) Dutch
(C) Danish (D) English
62. The first Indian ruler to organise Haj
pilgrimage at the expense of the state was:
(A) Alauddin Khili  (B) Feroz Tughlaq
(C) Akbar (D) Aurangzeb
83. The greatest fort of Pakistan that is Rani Kot
Fort is situated near the city
(A) Hyderabad (B) Peshawar
(C) Rawalpindi (D) None of these

64. When was the first agreement signed on

Siachen glacier?
(A) 1950 (B) 1971
(C) 1949 (D) 1954

65. Buddhist emperor Ashoka belonged to which
dynasty?
(A) Ashoka (B) Mauryan
(C) Chandra (D) Gupta

66. State of Kashmir was purchased by Ghulab
Singh for
(A) Rs.8.5 million (B) Rs.7.5 million
(C) Rs.9.5 million (D) Rs.5.5 million

67. In which Constitution Islam was declared
religion of the state?

(A) Constitution of 1956
(B) Constitution of 1973
(C) Constitution of 1968
(D) Constitution of 1962
68. Which is the biggest fresh water lake in the
world?
(A) Chilka Lake (B) Caspian Lake
(C) Dal Lake (D) Lake Superior
69. Which peninsula lies between the Black Sea
and the Sea of Azov?
(A) Crimean (B) Iberian
(C) Kamchatka (D) Yucatan

70. On the banks of which river is the city of
London located?

(A) Severn (B) Thames
(C) Avon (D) Humber

71. Which is the largest country in the Arabian
Peninsula?




(A) Oman (B) Yemen
(C) Saudi Arabia (D) Kuwait
72. The distance between the earth and the sun is
" gmallest in the month of:
(A) January (8) March
(C) June (D) September
73. In how many time zones has the world been
divided?
(A) 15 (B) 24
(C) 90 (D) 180
74. Liverpool is situated on bank of river
(A) Indus River (B) Mersey River
(C) Delaware River (D) None of these

75. Which is the longest river in the worid?

(A) Nile (B) Amazon .
(C) Volga (D) Mississippi
76. Nobel Prize was first awarded in the year:
(A) 1900 (B) 1801
(C) 1804 (D) 1905
77. How many members are these of
Commonwealth?
(A) 50 (B) 53
(C) 48 (D) 47

78. The Secretariat of Commonwealth was
located in which city?
(A) Paris' (B) Geneva
(C) London (D) Oslo

79. “The Indus Saga and the making of Pakistan”
book is written by '
(A) R.L. Stevenson (B) Aitzaz Ahsan
(C) H.G. Wells (D) None of these

80. Which of following places is the rainiest of

Pakistan? _
(A) Murree (B) Rawalpindi
(C) Karachi (D) Quetta

81. The foreign phrase Charge d'affaires means
(A) Deputy Ambassador
(B) An affair of the heart
(C) An awkward situation
(D) None of these

82. Who was the last ruler of the Tughlaq dynasty
of the Delhi Sultanate?
(A) Firoz Shah Tughlaq
(B) Ghiyas-ud-Din Tughlaq Shah-Il
(C) Nasir-ud-Din-Mahmud
(D) Nusrat Shah

st the following Sultans of the
% gggamreigned for the longest period?
(A) Qutub-ud-Din Aibak
(B) Ghiyas-ud-din Balban
(C) Nasir-ud-Din Mahmud

(D) Shams-ud-din litutmish

84. Khyber Pass is situated in:
(A) Himalaya Range
(B) Karakoram Range
(C) Hindukush Range
(D) Sulaiman Range

85. Longest glacier of the worid is Lambert
situated in Antarctica, what is its length?

(A) 320 miles (B) 390 miles
(C) 370 miles (D) 479 miles

86. Which of the following is Russian airline?
(A) Aerofiot (B) Aero Asia

(C) Russianfloats (D) Aero Russia
87. Asiana Airlines is the airline of:

(A) India (B) China

(C) South Korea (D) Greece
88. The period of Rabi season is

(A) October-May (B) May-Aug.

(C) October-June (D) January-May

89. In an Island near Alexandria an ancient
wonder “The pharaohs of Alexandria" is
situated. What is it?

(A) AlLightHouse (B) Hanging Garden

(C) Great Wall (D) AWall
80. Who was the President of USA during World
War |7

(A) Woodrow Wilson (B) George Truman
(C) Abraham Lincoln (D) None of these

91. Battle of Holdighat was fought in 1576 AD
between Raja Pratab Singh and
(A) Babar (B) Aurangzeb
(C) Akbar (D) Jahangir

g2. Muslims celebrated the “Day of Deliverance
on:
(A) 22nd December 1939
(B) 25th December 1939
(C) 24th December 1939
(D) 23rd December 1939

93. The famous resolution, which came to be
known as Pakistan Resolution was moved by
Maulvi Fazal-ul-Haq and passed unanimously:

(A) 1940 (B) 1945
(C) 1947 (D) 1944
94. Which Sea has no coastline?
(A) Japan Sea (B) Sargasso Sea

(C) Tasmanian Sea (D) White Sea

85. In which country is the port of Jgﬂna?
(A) India (B) Pakistan
(C) SriLanka (D) China

96. Which element is named after the country

i

Cyprus?
(A) Chlorine (B) .Copper
(C) Carbun (D) Calcium
97. Which type of plants is suited to grow under
drought conditions? -
(A) Pteridophytes  (B) Xerophytes
(C) Tropophytes (D) Hygrophytes
98. Which of the following is the smallest ocean of
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89. Kyzyl-Kum Desert is present in:
(A) Uzbekistan & Kazakhstan
(B) China
(C) Kazakhstan
(D) Morocco

100.Which one of the following is a Great Circle?
(A) The Arctic Circle
(B) The Tropic of Cancer

the worid? (C) The Equator

(A) Pacific (B) Indian (D) The Tropic of Capricomn

(C) Atlantic (D) Arctic

' Answer Key
1. D 14. D 27. C 40. D 53. B 66. B 79. B 92. A
2. B 15. B 28. B 41. A 54. C 67. B 80. A 83. A
3. B 16. D 29. C 42. B 55. D 68. D 81. A 84. B
4, B 17. D 30. D 43. C 56. A 69. A 82. C 85. C
5 C 18. A 31. A 44, A 57. A 70. B 83. D 96. B
6. A 19. A 32. C . 45, C 58. B 71. C 84. C 97. B
7. C .20. B 33. D 46. C 59. B 72. A 85. A 98. D
8. C 21. B 34 D 47. C 60. C 73. B 86. A 99. A
9. B 22. B 35. C 48. C 61. A 74. B 87. C 100.C
10. C 23. B 36. C 49. C 62. C 75. A 88. A
11. A 24, A 37. A 50. A 63. A 76. B 89. A
12. A 25. C 38. B 51. C 64. C 77. B 90. A
13. B 26. D 39. B 52. D 65. B 78. C 91. C
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1. Name the cricket player who has made
maximum number of one day centuries
(A) Tendulkar (B) Ponting
(C) Brian Lara (D) Ganguly

2. Tehrir Square is located in:
(A) Iran (B) Egypt
(C) Syria (D) Yemen

3. Bandar Seri Begawan is the largest city and
the capital of a country. It's also located on a
bay. What is the country and what's the bay
called?

(A) Brunei Darussalam and Brunei Bay
(B) Philippines and Manila Bay

(C) Singapore and Singapore Bay

(D) Taiwan and Tan-shui Bay

4. What cape divides the Atlantic from the Indian
Ocean?

(A) Western Cape
(B) Cape Town

(C) Cape Agulhas

(D) Cape of Good Hope

5. Highest military award of South Africa is:

(A) Golden Leopard

(B) Virtuti military

(C) War cross with sword
(D) None of these

6. Next ICC Cricket World Cup will be played in

2015in

(A) New Zealand

(B) Australia
(C) South Africa

(D) Botha&b

7. What is the national bird of Finland?

¢+ (A) Golden Wattle
(B) Rufous-bellied Thrush
(C) Whooper Swan
(D) Gallic Rooster

Who has been re-elected as the Russian
President for the third term in May 20127
(A) Boris Yeltsin (B) Viadimir Putin
(C) Dmitry Medvedev (D) None of these
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: (B) Pakistan Resolution :

was after a long wait allowed visiting any colors of the Olympic rings?
9. Who became the President of France in May (C) Khilafat Resolution

pation. First of all she has visited: (A) Red (B) Purple
20127 . (D) None of these ' (A) Thz_liland (B) Vle_tnam (C) Blue (D) Yellow
(A) Paul S'm‘:‘? 21. Hazrat Mujadid Alf Sani was born in: (C) India (D) China 46. The fear of thunder and lightning is known as:
(B) Victor Po a" de (A) 1493 (B) 1555 34. Pakistan successfully test-fired Hatf Il missile (A) Brontophobia (B) Xanthophobia
(C) ;rairgc&mto an (C) 1564 (D) 1548 on 10 May 2012. Another name of the missile (C) Eosophobia (D) Myrmecophobia
(D) Pa . in: is:
10. Which one of the following is not a nuclear site | 55 Eat India Company es(t.f)b"fgff in (A) Babar (8) Ghaznavi 47. micgat;f lt)]:: foolrIIOWing ?iB ;.a nh}?r?zgns;‘:‘ o
" of lran? @) Natanz Eg’) 1233 (D) 1609 (C) Gouri (D) Shahin (C) Whale Shark (D) Horseshoe Crab
?é)) g&&ehr (D) Abadan 23. Yasir Arafat was elected, Chairman of the 35. St:(r::l(a i:;he Roman numerals for which 48. What type of animal was the first living
11. Which is the third largest landlocked country F;\ala:glgsan Authority m(:B) 1995 (A) 119 (B) 121 ?I:E)’atMuL%:cne;pace? () Dog
i(r;\;h:ﬂ:;:gl?a (B) Sudan Ec)) 1996 (D) 1998 (©) 49 " ©) 99 (€) Rat (D) Mouse
{ . : ica in: 36. Who is the first Pakistan Prime Minister who i i
(C) Switzeriand (D) Chad 24. Slavery was abonshed(ig)ATseélsca n convicted for Contempt of Court? 48. ;-:}1’;1a!tE s vg group of llon?Bc;alf‘:!:m
12. Which of the following countries is a (A) 1863 (D) 1871 (A) Yousuf Raza Gilani (C) Pride (D) Sloth
landlocked country? . (C) 1852 (B) Raja Pervaiz Ashraf L
(A) Uruguay (B) Pakistan 25. Who was Lione! Jospin? (C) Nawaz Shareef 50. Name Europe's highest volcano.
(C) Switzerland (D) All of above " (A) Prime Minister of Belgilém (D) None of These (A) Etna (B) Vesuvius
. : a "
13. What is the currency of Martinique? . (B) Prime mjn::tte: g: g:?;e“and 37. Who was the captain of the Nautilus in the © §tr0mboh (D) Hekla
(A) Peso ®) So'i'l'"d Eg; E'r:rnr":: M;::istgr of France novel ‘Twenty Thousand Leagues under the 51. (B’;'D FIS the secret agency of:
D ollar . ’ a rance
(C) Franc ( .’ . ime came into power in pea? (b) United States of America
14. Capital of the Ukraine is: . 26. When Taliban reg (A) Birdseye (B) Nemo
" (A) Lisbon (B) Kiev Afghanistan? 8) 1995 (C) Pugwash (D) Morgan () Germany
(C) Santo Domingo (D) N°’f‘e :Ltth;:h:::E Eg; ::ggg %D)) 1994 28. Name the mythical creature with a spiral homn (@) India
15. Second Battle of Panipat was fou

Hemubikal and Akbar in
5
(A) 1493 (B) 155
(C) 1556 (D) 1548 '
16. Who was the British Prime Minister at the time
of Second Round Table Conference?

(A) Ramsay MacDonald

(B) Clement Attlee )

(C) Neville Chamberiain

(D) None of these
17. The Gandhi-lrwin Pact Proclaimed the

suspension of:

(A) Non-Cooperation Movement

(B) Dandi March

(C) Civil Disobedience Movement

(D) None of these '
18. Name the leader who supported Pakistan's

Resolution from U.P.

Ch. Khaliquz-Zaman

Eg; Hussain Shaheed Suharwardy

(C) Bothaandb

(D) None of these

19. Who presented Lahore Resolution on 23rd
March, 19407 ) )
(A) Allama Igbal (B) Llaqyat Ali Khan
(C) AK.Fazl-ul-Haq (D) Quaid-e-Azam
20. Lahore Resolution is also known as
(A) League Resolution

i nd

. Between the Balkan Peninsula (G_reece) a
2 the Anatolian peninsula (Turkey), it connects
the Mediterranean Sea to the Dardanelles
Strait.

ck Sea

A) Aegean Sea (B) Bla
50)) Sea of Marmara (D) Sea of Azov

28. What is below the cn_.lst?
(A) Absolutely Nothing
(B) Inner Core
(C) Mantle
(D) Outer Core
29. Myanmar observed its Independence Day
el ron:
?X) r?!:::ary 2 (B) January g
(C) January 4 (D) January

I , 9
30. How thick is the oceans’ crus
(A) 60-10m (B) 6-10km
(C) 6-10m (D) 60-10km

31. Who was Chandrika Kumaratunga?
(A) President of Sri Lank_a
(B) President of Indonesia
(C) President of Baqgladesh
(D) President of India

32. World Red Cross Day is observed on?

A) 17th May (B) 2nd May
%C)) 8th May (D) 12th May

33. Myanmar opposition leader Aung San Suu Kyi

growing from its forehead?
(A) Rhinoceros (B) Manatee
(C) Narwhal (D) Unicom

39. Name any one of the ten black-belt grades of
proficiency in judo or karate?
(A) Jon (B) Dan
(C) Col (D) Phil

40. Name the lowest adult male singing voice?
(A) Contralto (B) Base
(C) Bass (D) Baritone

41. What is the fifth letter of the Greek Alphabet?
(A) Gamma (B) Psi
(C) Delta (D) Epsilon

42. Which of the following units of measurement
was NOT named after a person?
(A) Barleycorn (B) Apgar
(C) Curie (D) Hertz

43. What U.S. city sits where the Ohio River
separates into the Allegheny and the
Monongahela?

(A) Pittsburgh, PA  (B) Cleveland, OH
(C) Cincinnatti, OH (D) Wheeling, WV

44. Which is NOT a scale by which to measure
natural disasters?

(A) Scoville (B) Fujita-Pearson
(C) Saffir-Simpson (D) Richter

45. Which of the following is NOT one of the

52. BIN is the secret agency of;
(a) Indonesia (b) United States of

America
() UK (d) Russia

53. The rising of the evening star indicates the
(a) South Pole (b) North Pole

(c) East (d) West
54. Which is the hottest planet in our solar
system?
(a) Venus (b) Neptune
(c) Mars (d) Jupiter
55. The planet which revolves very slowly around
the sun is
(a) Neptune (b) Jupiter
(c) Mars (d) None of these

56. Nobel prize in literature for 2008 was awarded
to Orhan Pamuk of:
(a) Syria (b) Egypt
(c) Turkey (d) Iran

57. Highest military award of Pakistan is:
(a) Nishan-e-Imtiaz (b) Iron Cross
(c) Nishan-e-Pakistan (d) None of these

58. Highest military award of France is:
(a) Legion d'honneour

(b) Military Cross

(c) tron Cross

(d) Medal for Valour

59. Nobel peace prize 2004 was awarded to
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60.

61.

62.

63.

65.

67.

68.

69.

70.

“Wangari Maathai’ of.
(a) Uganda (b) Kenya
(c) South Africa (d) Nigeria

Which of the following processes is related to
the formation of Himalayas?

(a) Faulting (b) Folding

(c¢) Sliding (d) Volcanic eruptions
Kirana mountains are present in:

(a) Pakistan (b) India

(c) Nepal (d) China

Plateaus situated in between plains and
mountains are called

(a) Intermundane plateaus

(b) Continental plateaus
(c) Piedmont plateaus
plateaus

Which is the longest mountain range in the
world?

(a) Himalayas (b) Andes

(c) Rockies (d) Alps

The first successful expedition to the Mount
Everest was made in

(d) Peninsular

(@) 1962 (b) 1965
(c) 1968 (d) 1953
Rakaposhi peak is present in:

(a) Pakistan (b) India
(c) Nepal (d) China

Who was got first Nobel Prize in economics in

19697

(a) Ragnar Frisch (Norvay) and Jan Tanbar
Jen (Netherlands)

(b) William Foreis (USA) and John Marshal
(UK)

(c) Sumeil Bengon (USA)

(d) J. Philip Reis (France)

Which Is the first Muslim who got Nobel Prize
In literature?
(a) Muhammad Younas (Bangladesh)
) Orhan Pamuk (Turkey)
(c) Naguib Mahfauz (Egypt)
(d) None of the above

The only person to win two unshared Nobel
prizes?

(a) Marie - (b) Linus Pauling

(c) John Jackson  (d) None of these

Highest military award of Vietnam is:
(a) Medal of honour

(b) National order of Vietnam

(c) Nishan-e-Haider

(d) None of these

Highest military award of South Africa is:
(a) Param vir chukara

(b) NKWE ya gauta (Gold Leopard)

(c) African medal

www.facebook.com/groups/sindh.j@bs.portal

(d) None of these

Directions: In each of the following questions,
out of the given alternatives, choose the
one which best expresses the meaning of
the given word

71. OVERSTRUNG

(a) Active (b) Energetic

(c) Concerned (d) Too sensitive
72. FRATERNISE

(a) Associate (b) Organise

(c) Expel (d) Cheat
73. COMPENDIUM

(a) Glossary (b) Reference

(c) Index (d) Summary
74. VAPID

(a) Virtuous (b) Priceless

(c) Dull (d) Vital
75. CONTROL

(a) Restrai (b) Influence

(c) Regulate (d) Dominate
76. NUGATORY

(a) Worthless (b) Cheerful

(c) Negative (d) Migratory
77. AID

(a) Supervision (b) Co-operation

(c) Assistance (d) Disease
78. DERIDE

(a) Mock (b) Confuse

(c) Shout (d) Snarl

Directions: In each of the following questions,
out of the given alternatives, choose the
one which best expresses the meaning of
the italicised bold part of the sentence

79. The demand for an autonomous state is
responsible for insurgence of terrorism
(a) separate (b) independent
(c) secluded (d) self-governed

80. He could not suppress his resentment
against that decision.
(a) indignation (b) irritation
(c) displeasure (d) excitement

81. It is so gratifying to know that there are not
many small-pox cases these days.
(a) pleasing (b) surprising
(c) satisfying (d) happy

82. Without science and the scientific spirit, we
shall just drift along.
(a) move gently (b) move aimlessly
(c) move cautiously (d) live peacefully

83. A factory manufacturing illicit liquor was
unearthed by the police yesterday.
(@) poisonous (b) unlawful

1
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(c) intoxicating (d) cheap (c) Fine (d) Attractive
84. A pervading sense of ennui. —r,
(a) anger __{bj anxiety Dlrac_tmns: Each of the following questions
(c) weariness (@ melancholy :g?jl?ts ;fa word or phrase whf[ch is italicised
85. He was given to fanatici in hi iti rta'm @ sentonce given. Rt s followed by
i me e o fantlam n s potica | S VIR o PSS SO e
closest to the opposite in
. (a) hmltatiuns_ meaning of the italicised bold word aﬁp hr
(b) unreasoning enthusiasm - prrase:
(©) falsehood 94, She was in a state of anxiety when | met her.
(d) having no grounds Eg ;ng;ure Eg; Papﬂ?ess
_ aughter
Directions: In each of the following questi ' in in thi
choose the word opposite in m Bgng'; , toanths; 95, 'crl::::rculusis is endemic in this area now a
given word (a) r..:uncentra '
ted (b) sporadic
86. FS]TABLISH (c) limited (d) sgattered
a) Disrupt (b) Uproot ' i i
© Corrode {d; Nggate 96. 'fl;relgm:::l:;rjuus hotel is a paradise for
87. BOISTEROUS (a) stoics (b) ascetics
Ea; galnl; (b) Comfortable (c) adventurers (d) saints
c) Goo (d) Happy 97. By murdering that woman, he h i
* ' as m tt
88. EVIDENT a hideous crime. committed
(a) Suspected (b) Disagreed (a) normal (b) generous
(c) Doubtful (d) Unimportant (c) logical (d) fair
89. DESTROY (¢) handsome
(a) Invent (b) Make 98. The last show of the concert at the Ritz
(c) Produce (d) Create Theatre was a fiasco.
90. HAGGARD (a) triumph (b) victory
() Healthy (b) Animated (c) fruittul (d) success
() Robust (d) Hearty 99. From his acts of hunting, it can be inferred
91. NUGATORY g e o acked man.
(a) Voluptuous (b) Slender noce ecent
(c) Valuable (d) Worthless (c) pious (d) peaceful
92. ACCELERATE 100.1 think you should undertake this job; it would
(a) Creep (b) Drag E:;ally t;re a profitable venture for you.
() Lag (b) Move slowly © conceal EEE retriove
93. Coarse
(@) Beautiful (b) Soft
. A e B 2 Answer Key
. . . A 40. B 53. D 66. A
2 B 15 C 28. C 4. D 54 A 67. C ;g c g§ c
3 A 16 A 20 C 42 A 5. A 68 B 8. A 9. A
4 C 17 C 30 B 43 A 5 C 6. B 8. B 95 B
5 A 18 A 31. A 4 A S C 7 B 8. B 9. B
& D 19. C 32 C 4 B 58 A 7. D 8. C 97 E
7 C 20 B 33 A 46 A 5 D 72 A 8. B 9 D
8 B 2. C 34 B 4. B 60 B 73 B 8. B 99
o C 22 C 3 A 48 B 6. A 74 C 87. A %00 i
0 D 23 C 36 A 4. C 6 C 75 A 8. C |
4. D 24 B 37. B 5 A 6. B 76 A 8. D
:2. C 25 D 28 D 5. C 6. D 7. C 9. B
3. C 26. C 39. B 52. A 65. C 78. A 81. C
00440000
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:.{drc;h best expresses the meaning of the given (c) tact (d) action of the Central Legislative Council: (D) Prime Minister of Croatia
Directions: In each of the following questions, (A) 1885 (B) 1892 35. Including port cities such as Venice, which
1. LACHRYMOSE ' choose the word opposite in m,f,,ﬁ,g to the (C) 1889 (D) 1887 sea sapgrgtas the Italian peninsula ‘{Ital;'{; and
(a) Unimpressive  (b) Moist given word 25. The “Communal Award" given by: the Balkan peninsula (Croatia, Bosnia-
(c) Mourmnful * (d) Impious 12. FLEXIBLE (A) Lloyd George Herzegovina, Yugoslavia, and Albania).
2. FORAGE ) (ﬂ) Brittle (b} ngld (B) Ramsa}' Macdonald {A) lonian 8_93 {B] AEQEHH Sea
(@) Fly (b) Research (© Hard (@) Solid Eg; Winston Churchill (C) Tymhenian Sea (D) Adriatic Sea
(c) Search (d) Travel Stanley Baldwin 36. The Gulf of Agaba is connected to the Red
13. DEVOUT , ; : ;
. 26. Gandhi started Satyagraha movement in 1919 Sea and is approximately 110 miles long (177
3. ESEI;SL ?]ntlv © Rev (a) lrreverent (b) Sincere in protest agalnstattge:g Kilometers). The gulf borders countries:
evive (c) Homely (d) Magnificent (A) Simon Commission (A) Israel, Jordan, Egypt, and South Africa
(c) Support (d) Believe 14. ILLEGIBLE ' (B) Champaran wrongs (B) Israel, Jordan, Lebanon, and Saudi
4. SCOUR (a) Clear (b) Imitable (C) Enactment of Rowlatt Act Arabia . .
(a) Search (b) Flow (c) Clean (d) Readable (D) Colonial exploitation for India Eg; {j;zel. Jnrjap& Egygt. and Saudi Arabia
] I(:I)DL?:‘:'SI;OUS (d) Push 15 ROBUST 27. Nfadua-TuI-I!Jilama wag established as a result Ara;’;”"' ordan. Egypt, and Saud
‘ , . of some religious minded Government ,
(a) Intelligent (b) Hard working E::': H;Et Eg; gﬁ:&at&d | servants, Sufis and Ulemas: 37. Chad is the landlocked country of.
(c) Clever (d) Reserved 16. CARNAL o) loos (B) 1084 % Ao o South Ameri
% MSTENIOR (a) Sensuous (b Spiritual i o oo 36, Russi observed s Indepondence Day o |
(a) Revealed (b) Implied (c) Visionary (d) Imaginary 28. Which of the following events was not : its Independence Day every
(c) Extreme (b) Decisive associated with the year 19207 yearon
17. RELINQUISH (A) Gandhi took over the leadership of (A) June 11 (B) June 12
Directions: In each of the following questions, (@) Withdraw (b) Attack Congress (C) June 13 (D) June 14
out of the given alternatives, choose the one (c) Assume (d) Conquer (B) Non-Cooperation Movement 39. The largest earthquake of the 20th century
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(a) drab _ (b) dangerous 33. Two chairs and one table cost Rs.400, while
(c) beautiful (d) bright one table and one chair cost Rs.300. What is
23. Hafiz Muhammad Saeed founded ' the price of the table?
FEDERAL PUBLIC SERVICE COMMISSION Afghanistan in 1991, " (A) Rs.100 (8) Rs.200
(A) Lashkar-e-Taiba (C) Rs.300 (D) Rs.400

INSPECTOR FIA 2011

Directions: In each of the following questions,
out of the given alternatives, choose the one

which best expresses the meaning of the
italicised bold part of the sentence

was handled in the most slapdash manner.
(a) carefulness

(b) attention

Directions: Each of the following questions
consists of a word or phrase which is italicised

24.

(B) Jemaah Islamiya
(C) Khuddam ul-Islam
(D) Hezbollah

Indian Council Act enlarged the Membership

(C) Khilafat Movement
(D) Chauri Chaura incident

Who was Ivica Racan?

(A) Prime Minister of Slovenia

(B) Prime Minister of Bosnia-Herzegovina
(C) Prime Minister of Yugoslavia

occurred on what continent?
(A) South America

Al (B) North America
sia.

{E_)} Australia

7. Several ancillary units were patronized by | pold in the sentence given. It is followed by 2. th;derehwaaththe EE““‘}" of Muslim League . . .
that large store. certain words or phrases. Select the word or c; at:"ﬂ enf Pekriets:mtnn demanding the 40. Who is the current Prime Minister of Russia?
(a) small (b) temporary phrase which is closest to the opposite in A) B?;?'nct;a akistan wag pagsfd'ita (A) Dmitry Medvedev (B) Viadimir Putin
(c) standing (d) subordinate meaning of the italicised bold word or phrase. (C) Lahurey ED:)' M:dc;s (C) Silvio Berlusconi (D) Viadimir Meadonev
8. I don't see why he should be so obsequious | 18. The flight was delayed because of bad - - 41. Which U.S. state has had the most
to his brother just because the latter is rich. weathefg. 30. :T':??dd Telecommunication Day is observed ?:FT&::E:E? B tovad
(a) unusually kind (a) quickened (b) released A) 17th Ma i
(b) unfriendly () expedited (d) triggered AR May ) oy, (C) Oregon (D) Nebraska
(c) excessively respectful 18. The beautiful irl looked 42. XCIX is the Roman numerals for which
(d) offensive - 1he healu giri looked so morose. 31. Ifthe length of a rectangular plot is reduced to number?
. (@) healthy (b) gloomy 3/5th of its original length what will be the ratio (A) 119 (B) 121
8. ?';rmpﬂmdm Wﬁf?bgphﬂ"‘e ?rfa ?aﬂﬂﬂﬂf life. (c) haggard (d) cheerful of original area to the reduced area? ¢ (C) 49 (D) 99
a) pervades penetrates - - . - ,
(c) pollutes (d) poisons 20. The error in the newspaper article is E‘é; ig Eg% gg 43, :\hlm remarkable mineral abundant sea is so
) ) accidental. i - ense and salty it can't sustai i ?
10. The terminus of his progress would be (a) permissible (b) usual 32. 5 workers, working 8 hours a day, finished It lies further btgnaath sea Iéﬁ:l tahnaynlﬁingydy
reached when he accomplishes that honour. (c) conventional  (d) intentional painting a house in 2 days. If an identical of water on earth.
(a) beginn!ng (b) highest stage 21. He is a man with a jovial nature. house has to be painted completely in a day (A) The Red Sea (B) The Dead Sea
(c) last point (d) result (a) talkative (b) morose by 8 workers, how many hours should they (C) The Black Sea (D) The Eerie Sea
11. An issue of the highest sensitivity, which (c) monotonous (d) quiet E‘;’kg B 10 44. Which animal has an offspring called a cub
required the greatest finesse .and delicacy, 22. Itwas a very dreary day. () 11 ED}) 13 and its collective group is called a sleuth?

(A) Pig (B) Bear
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45.

48.

47.

48.

49.

51.

53.

55.

57.

58.

(C) Fox (D) Antelope
latelist collect?

mﬂtsf:;:: h (B) Postcards

(C) Coins (D) Autographs

What country does the giant panda inhab

(A) Australia (B) Kenya

(C) Canada (D) China

imal's name is derived from two
gﬂi :nnrds that mean ‘terrible lizard'?
(A) Crocodile (B) Komodo dragon
(D) Dinosaur

sardines are small fish which were originally
caught off the coast of which Italian island?
A) Stromboli (B) Sardinia

(C) Capri (D) Elba

In which American state is the site of the US
gold bullion depository of Fort Knox located?

(A) Texas (B) Kansas

(C) Nevada (D) Kentucky
Which is the only deer in which both sexes
have antlers?

(A) Moose (B) Red deer

(C) Reindeer (D) Fallow deer

In which country would you find Utrecht,
Amhem and Maastricht? '

(A) Germany (B) Belgium

(C) Netherlands (D) France

What is France's ‘train a grande vitesse' better
known as?

(A) TGV (B) TAG

(C) THS (D) T.AV.

Which of the following would not be found at
the Victoria Falls?
(B) Zambia

(A) Zaire
(C) Zimbabwe (D) Zambezi

What do you call the offspring of an elephant,
walrus and a whale?

(A) Fawn (B) Pup

(C) Calf (D) Cub

It is estimated that there are how many
different languages spoken around the world?
(A) 300 (B) 3,000

(C) 30 ) 3

. What is the collective noun for a group of

camels traveliing in a single file and
transporting goods?

(A) sg:ravgngo (B) Parliament

(C) Yoke (D) Knot

Which strait links the Mediterranean Sea to
the Atlantic Ocean?

(A) Gibraltar (B) Bass

(C) Magelian (D) Denmark

Which of the following is CORRECT
statement about the Wright Brothers who

59,

61.

63.

65.

66.

67.

68.

69.

70.

71.
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achieved the first powered flight?

(A) They ran a cycle business in Ohio, USA

(B) They were called Wilbur and Orville
Wright

(C) They designed their first powered plane,
‘Flyer 1" All

(D) None of these

In Shakespeare's play, ‘Measure for
Measure', what is the name of the simple
constable?

(A) Elbow (B) Knee

(C) Bottom (D) Wrist
Valentia Island is off the coast of which
country? _

(A) Ireland (B) Spain

(C) Venezuela (D) ltaly

Which of the following pass connects Qila
Abdullah with Chaman?

(A) Mintaka Pass (B) Khojak Pass
(C) Dorah Paés (D) Muztagh Pass

Which Lake is located near Thatta (Sindh)?
(A) Sat Para (B) Phander
(C) Keenjher (D) Hanna

Hana Lake is situated near:
(A) Peshawar (B) Quetta
(C) Murree (D) Kaghan

. Which of following places is the rainiest of
Pakistan? )
(A) Murree (B) Rawalpindi
(C) Karachi (D) Quetta

What is the total length of coastline of
Pakistan?

(A) 1020 km (B) 1046 km
(C) 1085 km (D) 1126 km

Which is the second highest peak of the
world?

(A) Pamir (B) Nanga Parbat
(C) K-2 (D) Rakaposhi
Diamer Bhasha dam will produce electricity
after completing?

(A) 4200 MW (B) 4500 MW

(C) 4800 MW (D) 6000 MW

Which is the biggest earth filled dam of
Pakistan?

(A) Tarbela (B) Mangla

(C) Hub (D) None of these

After Independence the first radio station was
established in:
(A) Lahore
(C) Karachi

(B) Rawalpindi
(D) Islamabad

On November 26, 1964 the first TV station
was established in:

(A) Lahore (B) Karachi
(C) Dhaka (D) Rawalpindi

When Pakistan first time won the Cricket

73.

74.

75.

76.

77.

78.

79,

80.

81.

82,

83.

84.

World Cup?
(A) 1992 (B) 1996
(C) 1999 (D) 2003
. The first census in Pakistan was held in:
(A) 1948 (B) 1951
(C) 1959 (D) 1961

The first track of Pakistan railway established
between Karachi and Kotri was laid down in:
(A) 1858 (B) 1861

(C) 1892 (D) 1902

Name of the Crop sown on the largest area of
Pakistan?

(A) Rice (B) Sugarcane

(C) Cotton (D) Wheat

U. Thante, secretary-general of United
Nations from 1961-71 belonged to:
(A) Thailand (B) Singapore
(C) Burma (D) Brazil

What do you understand by Status quo?
(A) With date (B) Present state
(C) In good condition (D) None of these

What do you understand by Locus Standi?
(A) Standing in a community

(B) Right to intervene

(C) Pubilic following

(D) Right to defend

One nautical mile is equal to
kilometers.

(A) 1.614 (B) 1.921
(C) 1.853 (D) 1.756

By selling a fan for Rs. 475, a person loses
5%. To get a gain of 5%, he should sell the
fan for:

(A) Rs. 500 (B) Rs. 525

(C) Rs. 535 (D) Rs. 575

Twelve men take 6 hours to finish a piece of
work. After the 12 men have worked for 1
hour, the contractor decides to call in 8 more
men. How many more hours would 20 men
take to complete the remaining work?

(A) 2 (B) 3

(C) 4 (D) 5

The headquarters of UNESCO is located in:
(A) New York (B) The Hague
(C) Paris (D) Moscow

Book “The Whole Truth” was written by:
(A) Muhammad Aslam

(B) Muhammad Rustam Gallani

(C) Z. A. Nazir

(D) Nawaz Rawn

“Incomplete Partition” is written about Kashmir
dispute by:
(A) K. M. Arif (B) Alastair Lamb

(C) Barnett Rubin (D) None of these
Who discovered antiseptic surgery?

85.

86.

87.

88.

89.

90,

91.

92.

93.

95.
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(A) Joseph Lister

(B) Ronald Ross

(C) Alexander Fleming
(D) William Harvey

Who invented the hydrogen bomb?
(A) J. Robert Oppenheimer

(B) Albert Einstein

(C) Samuel Cohen

(D) Edward Teller

The speed per minute at which the earth
revolves around the sun is:

(A) 800 km

(B) 1,000 km

(C) 1,400 km

(D) More than 1,600 km

Which of the following countries in South Asia
are landlocked?

(A) Nepal and Bangladesh -

(B) Bangladesh and Bhutan

(C) Bhutan and Nepal

(D) Bhutan and Pakistan

Ataturk Dam is located in
(A) Argentina (B) Turkey
(C) Ghana (D) Iran

Name the person who sailed around the world
in the ‘Golden Hind'?

(A) Sir Francis Drake

(B) John Davis

(C) Vitus Bering

(D) James Clark

Who is the author of “Muslim League
Yesterday and Today"?

(A) Dr. Safdar Mahmood

(B) K. K. Aziz

(C) K. B. Saeed

(D) None of these

Who was the first Romanian in space?
(A) Dumitru Prunariu

(B) Yang Liwei

(C) Sultan Salman Al Saud

(D) None of the above

Substances used to bring relief in pain are
called:

(A) Ant pain (B) Antipyretics
(C) Antibiotics (D) Analgesics

Novel written by Orhan Pamuk Literature
Nobel Prize winner is:

(A) The White Castle (B) Black Book
(C) State of Denial (D) A&B

Which country is the biggest producer of
Uranium in the world?
(B) Canada

(A) France
(C) USA. (D) Kazakhstan

Which country is the biggest producer of wool
in the world?
(A) Pakistan (B) Russia
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(C) US.A. (D) Australia
. Olympics are held once in every:
e (A;’m#wn years (B) Three years
(C) Four years (D) Five years

97. Modemn Olympics was revived by:
(A) A Dutch nobleman
(B) A Greek nobleman

(C) Food nutrients for growth and
maintenance
(D) Butter and ghee

99. 10 decameters are equal to:
(A) 2 hectometers = (B) 3 hectometers
(C) 1 hectometers (D) 4 hectometers

100.The first ever artificial satellite was launched

(C) A French nobleman by: _
(D) A German philosopher (A) Russia (B) France
98. A balanced diet contains (C) Japan (D) America
(A) Animal protein _
(B) Macro and micro nutrients
Answer Key c 7 B 02
14. D 27. B 40. A 53. A 66 . .
;Z g 5. B 28. D 4. A 54 C 67. B 8. B 93
3. C 16. B 29 C 42. D 55 B 68 A 8. C 94
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1. Ariana’ is an airline of.-
(A) Sri Lanka (B) Iran
(B) Afghanistan (D) Turkey
2. Kalabagh is famous for:-
(A) lIron ore (B) Chromite
(B) Copper
3. What is meant by ‘Summary Trial?
(A) Incameratrial (B) Open trial
(B) Short trial before a magistrate
(D) Trial before any High Court

4. Saltis found in:-

(A) Warcha (B) Khewra

(B) Kohat (D) Ali of the above
5. Natural gas is found in:-

(A) Mari (B) Uch

(B) Khairpur (D) All of the above

6. After cotton, which is the second highest
foreign exchange eamer crop of Pakistan?
(A) Rice (B) Wheat

(D) None of the above

(B) Sugarcane (D) None of these

7. Pakistan's highest mountain peak K-2 is
located in the:-
(A) Himalayian Range
(B) Hindukush Range
(B) Karakoram Range
(D) Suleman Range

8. Identify Pakistan's first surface-to-surface

missile:-
(A) Shaheen-| (B) Hatf-I
(B) Ghauri-l (D) Anza-|

9. Diris famous for:-
(A) Artificial Forests (B) Tidal Forests
(B) Natural Forests (D) Bela Forests

10. Pinpoint the Kharif crop:-
(A) Sugarcane (B) w:haat
(B) Barley (D) Oil seeds

11. IPP stands for:-
(A) Internal Programme of Planning

00000000

12.

13.

14.

15.

16.

17.

18.

19.

20.

(B) International Press of Pakistan
(B) Independent Power Producer
(D) Internal Power Plant

Bonded Labour is mostly prevalent in:-
(A) Bhatta/Kiln industry

(B) Motor workshops

(B) Carpet industry

(D) Sports industry

Pakistan and Iran sought the membership of

Baghdad Pact in 1955 which came to be
known as:-

(A) CENTO (B) SEATO
(B) ASEAN (D) OIC

The SAARC Secretariat is in:-

(A) Colombo (B) Katmandu
(B) Dhaka (D) New Delhi

Identify the highest 'Non-operational Award’ of
Pakistan Armed Forces:-

(A) Sitara-i-Jurat

(B) Tamgha-i-Basalat
(B) Sitara-i-Basalat
(D) Tamgha-i-Khidmat

The study or science of population is called:-

(A) Geography (B) Demography

(B) Plutocracy (D) Sociology

What is ‘Pentagon’ ?

(A) Name of the French Parliament

(B) Offices of American Defence Ministry

(B) Official residence of United Nations
Secretary General

(D) A kind of boat used in forming a bridge to
let the army cross the river

Pinpoint the main objective of ‘World Trade

Organisation' (WTO):-

(A) Fix a quota for each member country,
trading in international market.

(B) To eliminate quota system and promote
free competition in trade.

(B) To secure Third World markets for
American and European goods.

(D) To abolish completely customs duties on
items of trade within the member
countries.

According to the report of World Health
Organisation, which infectious disease is
causing maximum number of casualties in the
world? :

(A) Hepatitis B (B) Influenza

(B) AIDS (D) Tuberculosis

The Aeronautical Engineering College of PAF
is at:-
(A) Risalpur

(B) Korangi Creek
(B) Kohat

(D) Karachi
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21. Pakistan had joined Baghdad Pact / Central

23.

24,

Treaty Organisation (CENTO) in 1955 along
with:-

(A) France, UK, Australia

(B) Thailand, Philippines, South Korea

(B) lran, lraq, Turkey

(D) None of these

OPEC's largest oil producing country is:-
(A) Kuwait (B) lIran
(B) Saudi Arabia (D) UAE

it was provided under ‘Sharm-el-Sheikh

Agreement’ that:-

(A) Palestinians will be given self-rule in
Jerusalem.

(B) East Jerusalem will be the capital of
Palestinian State.

(B) Palestinians will release all Jews captives
within two weeks.

(D) Palestinians will be provided safe

passage between West Bank and Gaza
strip.

When only one single government operates at
the central level and no regional governments
exist, the system is called:-

(A) Federal (B) Confederacy

(B) Unitary (D) Presidential

25.There are four numbers. Average of the first

26.

27.

28.

29,

three is 15 and that of the last three is 16. If
the last number is 19, find the first number.

(A) 16 (B) 184

(B) 20 (D) 21

Which Surah of the Holy Quran is called ‘the
heart of the Quran'?

(A) Surah Al-lkhlas (B) Surah Yasin

(B) Surah Al-Bagarah(D) Surah Ar-Rehman

After Hijrat to Madina, what first important
thing Holy Prophet (SAW) did?

(A) Built a mosque for prayers

(B) Built his house

(B) Created Bait-ul-Mal

(D) Raised an Army "

What was the title of Hazrat Ayesha (RA)?
(A) Tahira (B) Siddiga
(B) Umm-ul-Masakeen (D) All of these

What is the meaning of /man-e-Mufassal?
(A) The belief in brief

(B) The belief in detail

(B) The belief in all things

(D) The belief in uncertain things

30. Which Umm-ul-Momineen died last?

(A) Hazrat Safia (RA)

(B) Hazrat Ayesha (RA)

(B) Hazrat Umm-e-Salma (RA)
(D) Hazrat Javeria (RA)
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(B) terminology
(D) silly

(B) uproar
(D) tint

(B) hostile
(D) alluring

(B) apathetic
(D) gobble

(B) ignorance
(D) clear

(B) attractive
(D) trash

(B) foster
(D) ruin

(B) obtuse
(D) neglect

(B) reckless
(D) hasty

79.
80.
81.
82.
83.

85.
86.
87.
88.
89,
90.
91,
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1. He was in high spirits when | met him in the

restaurant,

A) he was in a drunken state
EB; he was very cheerful .

92.
93.

85.
96.
97.
98.
99

100.
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(C) he talked incoherently
(D) he was deeply engrossed in thoughts

2. Harassed by repeated acts of injustice, he
decided to put his foot down.
(A) not to yield (B) resign
(C) withdraw (D) none

3. Jamil could be easily arrested because the
police was tipped off in advance,
(A) bribed
(B) cautioned
(C) given advance information
(D) threatened '

4. You cannot have your cake and eat it too
(A) enjoy for ever
(B) enjoy without payment
(C) have it both ways
(D) absolve yourselif of guilt

5. In the beginning of his career, he was
practically rolling in money
(A) wasting a Iot of money
(B) spending more than his earnings
(C) very rich
(D) saving lot of money

6. Those with little margin to maintain a decent

life for themselves often rely on
provisions from local ecosystems.
(A) precisely (B) exactly
(C) personally (D) directly
7. Land reform refers to

redistribution of land from the rich to the poor.
(A) approximately (B) usually
(C) naturally (D) differently

8. He the gathering in impressive
English
(A) directed (B) approached
(C) undertaken (D) addressed

9. as part Of a periodic change in

membership there have also been several
changes to our Editorial Board.

(A) cleverly (B) Finally

(C) Perfectly (D) Positively

10. Adaptation has become an
any climate change strategies.
(A) usual (B) foremost
(C) independent (D) required

11. Mineral resources are and difficult to find
(A) uncommon (B) scarce
(C) incomplete (D) inconsistent

12. Institutional and financial regimes have a(n)

impact upon the socio-economic
efficiency of infrastructure.

(A) assumption (B) approximate
(C) slight (D) direct

13. The Retail sector of Pakistan is vast, and has

part of

L

Federai Iuvestiggﬂun Agency (FIA)

191

unorganized.
(A) potential (B) security
(C) availability (D) facility

14. The boundary

can be extremely sharp: even a single step
upslope may be adequate to escape death.
(A) around (B) among
(C) with (D) between
15. As a result, there is a need for
more innovative schemes to attract large-
scale investment into infrastructure.
(A) awakening (B) locating
(C) recognizing (D) introducing
and poor governance have been
major problems in many countries,
(A) Corruption (B) Fauit
(C) Systems (D) Misuse
17. Let's find out why Pluto is no

a planet.

(A) perceived (B) considered
(C) observed (D) referred

18. Since tourism does not fall under a single

heading in National Accounts Statistics, its
contribution has to be

(A) appraised (B) guessed
(C) conclude (D) estimated
19. The commedity futures market the
price discovery process and provides a

16.

longer

platform for price risk management in
commodities.

(A) distinguishes (B) forwards

(C) simplifies (D) facilitates

20. The Pakistani telecom sector has
tremendous growth over the past decaae.

(A) witnessed (B) worked
(C) attended (D) participate
(E) watchea

GENERAL KNOWLEDGE

21. Before imposition of first martial saw in
Pakistan on October 7, 1958, the last Prime

Minister was:

(A) Malik Feroz Khan Noon

(B) Muhammad Al Bogra

(C) LI Chundrigar

(D) Mian Mumtaz Daultana

22. Which out of the following took place in 19637
(A) Indo-Soviet Military Pact

(B) Settlement of Pak-China Boarder Dispute

(C) Uprising in Kashmir

(D) Indo-China War

23. The 1965 War continued for:
(A) 10 days (B) 12 days
(C) 17days (D) 19 days

huge for growth and development.

24. Who authored the book llam-ul-Igtisad?

as the majority of its constituents are

air and lethal gas

— R S




192 Advanced FPSC & other Model Papers

A) Ibn-al-Hatham  (B) Imam Ghazali
(C) Abu Zahra (D) Allama Igbal

25. What is a length of grand trunk road (N5)
which run from Peshawar to Karachi

(A) 1635 km (B) 1835 km
(C) 1735km (D) 1935 km

26. Shahnama-i-Islam was written by
(A) Firdausi

(B) Sir Syed Ahmad Khar
(C) Hafeez Jallundhri
(D) None of these

27. “K" in "Pakistan” stands for

(A) Karachi (B) Khyber

(C) Kashmir (D) None of them
28. Which city is called ‘Forbidden city"?

(A) Lahasa (B) Moscow

(C) Rome (D) Bruit
29. Which city is called the ‘Gateway of India'?

(A) Mumbai (B; Agra

(C) Kolkata (D) Hyderabad

30. Which city is called the ‘City of Cosmonauts'?
(A) New York (B) Moscow
(C) Lahore (D) Karachi
31. Hamas' was founded in 1987 by:
(A) Yaser Arafat
(B) Ismail Hannia
(C) Sheikh Ahmad Yasin
(D) Khalid Mashaal

32. ‘Nippon’ is stock exchange market of:

(A) Tokyo (B) London
(C) New York (D) None
33. The wond's largest foreign exchange

reserves, almost $ 2 trillion is
(A) USA (B) Japan
(C) Germany (D) China

34. 'Khar is the main town of:
(A) Bajaur Agency
(B) Khyber Agency
(C) Kurram Agency
(D) North Waziristan

The members of SEATO (South-East Asian
Treaty Organization):

(A) Australia, France, New Zealand

(B) Philippines, Thailand

(C) UK and USA

(D) Al of the above

36. The main factor attributed to the global

financial crisis 2008 is:

(A) Great slide in oil prices in the international
market )

(B) Collapse of.housing prices and mortgage
market in the United States .

(C) Huge trade imbalance between America
and China

(D) None

35.

37. 3 May each year is observed internationally
as:
(A) Environment Day
(B) Population Day
(C) Press Freedom Day
(D) Food Day

38. The UN spends the largest amount almost $ 8
billion annually on.
(A) Healthcare
(B) Poverty alleviation
(C) Peacekeeping missions
(D) Literacy and Education

39. In computer CPU stands for.
(A) Central Processing Unit
(B) Central Programme Unit _
(C) Communication Processing Unit
(D) Central Processing Unit

40. Almost 40% of the world's il supply passes
through the strait of:
(A) Hormuz (B) Malacca
(C) Bosporus (D) Gibraltar

41. Which of the following films has
Oscar Awards in a ceremony
February 20097
(A) The Reader
(B) The Dark Knight
(C) Slumdog Millionaire
(D) Man and Wire

42. What is ‘Khmer Rouge'? ‘
(A) A Communist movement in Cambodia
(B) Tamil group in Sri Lanka
(C) Irish nationalist party
(D) A port of Singapore

43. The headquarters of IMF is located at:
(A) Geneva
(B) New York
(C) Washington DC
(D) Paris

44. The biggest bird is:
(A) Eagle (B) Owl
(C) Kiwi (D) Ostrich

45. Which of the following UN agencies has
received Noble Peace Prize?
(A) UNICEF
(B) ILO
(C) UN High Commissioner for Refugees
(D) All of these

46. The famous city “Waterloo” is in:
(A) France (B) Germany
(C) Sweden (D) Belgium

47. Who is ‘Hemant Karkare'?
(A) A person involved in Samjhota Express
train bombing in 2007 o ‘
(B) Indian Anti-terror squad chief killed during
Mumbai attack in 2008
(C) Chief of Indian Intelligence agency RAW

won eight
on 23rd
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(D) Indian High Commissioner in Pakistan

48. Human Right Organization ‘Human Rights
Watch' is based in:
(A) Geneva (B) New York
(C) London (D) Paris

49. Which of the following Guif States has recently
donated 320.MW gas fired power plant to
Pakistan?

(A) Saudi Arabia (B) Qatar
(C) UAE (D) Bahrain
50. Pakistan’s largest trading partner at present is:
(A) China (B) America
(C) Saudi Arabia (D) Japan
MATH

51. A trader loses 20 per cent by selling an article
for Rs. 480. If he is to gain 20 per cent, he
should sell it for rupees
(A) 520 (B) 600
(C) 720 (D) 800

52. The minute arm of a clock is 10 cm long. The
number of minutes taken by the tip of the arm
to trave! a length of 10 cm is nearly equal to
(A) 5 (B) 10
(C) 15 (D) 20

53. When a number X is added to 4/X, the resuit
is 4. Therefore X is

(A) 2 | 3
C) 4 (D) 8
54. The next number in the series 0, 7, 26, 63 is
(A) 124 (B) 178
(C) 195 (D) 255

55. N number of persons decided to raise Rs. 3
lakhs by equal contributions from each. Had
they contributed Rs. 50 each extra, the
contribution would have been Rs. 3.25 lakhs.
How many persons are they?

(A) 450 (B) 500
(C) 400 (D) None

56. In a classroom, If 6 students per bench are
assigned to accommodate all students, one
extra bench will be required. However, if 7
students are accommodated per bench, there
would be a space left for 5 student on one of
the bench. What is the total number of
students.in the class?

(A) 30 (B) 48
(C) 72 (D) 42

57. An article is sold for Rs.45 for a loss of 10%, if
it is sold at Rs.65 the gain % is?
(A) 30 (B) 15
(C) 20 (D) 10

58. In a class there are 18 boys who are over 160
cm tall. If these constitute three - fourths of the
boys and the total number of boys is two-
thirds of the total number of students in the

59.

60.

61.

62,

63.

65.

66.

67.
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class, what is the number of girls in the class?
(A) 24 (B) 6
(C) 12 (D) 18

A quantity is found to vary in the order 9, 16,
25, 36, 49. What will be the next number in
the order?

(A) 57 (B) 64

(C) 68 (D) 61

If the product of two numbers is 320 and their
ratio is 1 : 5, what is the difference between
the squares of these two numbers?

(A) 1024 (B) 1365

(C) 1536 (D) 1635

Kiran has 85 currency notes in all, some of
which were of Rs. 100 denomination and the
remaining of Rs. 50 denomination. The total
amount of all these currency notes was Rs.
5000 How much amount did she have in the
denomination of Rs. 507

(A) 3500 () 1900
(C) 4000 (D) None
5.8x25+06x6.75+139.25="2
(A) 157.30 (B) 160.30
(C) 157.80 (D) 158.40

In a single throw of a pair of dice, what is the
probability of getting a sum of 8?
8

A 13 ®) 36
©) 35 (D) 5

. In an examination, every candidate took

Physics or Mathematics or both 65.8% took
Physics and 50.2% took Mathematics. The
total number of candidates was 2000. How
many took both Mathematics and Physics?

(A) 750 (B) 700

(C) 550 (D) 500

A point is selected at random inside a
rectangle and perpendiculars are drawn on
each side from the point. The sum of these
perpendiculars is 24 cm. If the length of the
rectangle is 3 times the width, the perimeter of
the rectangle will be

(A) 36cm (B) 42cm

(C) 24 cm (D) 48 cm

A man has Rs. 480 in the denominations of
éne-rupee notes, five-rupee notes and ten-
rupee notes. The number of notes of each
denomination is equal. What is the total
number of notes that he has?
(A) 45 (B) 75
(C) 60 (D) 90
The average salary of skilled employees in a

firm is Rs 520 and that of the unskilled
employees is Rs. 420. If the average salary of




194

Advanc PS8 other Model Papers

68.

69.

70.

",

72.

73.

74.

75.

76.

both the groups of employees is Rs. 500, then
the percentage of skilled employees in the
firm is

(A) 50 (B) 20

(C) 80 (D) 70

A man jumped at a speed of 5 metres per
second from a stationary boat ‘/and the boat
moved off with the speed of 0.5 metre per
second. How many times is the mass of the

boat greater than that of the man?
(A) 5.5times (B) 4.5times
(C) 2.5times (D) 10 times

One mole of hydrogen gas burmns in excess of
oxygen to give 290 kJ of heat. What is the
amount of heat produced when 4g of
hydrogen gas is bumt under the same
conditions?

(A) 145 kJ (B) 290 kJ

(C) 580kJ (D) 1160 kJ

The half-life of a radio active element is 5
years. The fraction of the radioactive
substance that remains after 20 years is

® 3 ® %
©) 75
SCIENCE

What is the volume of brain of an average
human being?

(A) 100 Cubic Centimetre

(B) 1650 Cubic Centimetre

(C) 1500 Cubic Centimetre

(D) 4000 Cubic Centimetre.

How many bones are there in the spinal
column?

(A) 33 bones (B) 42 bones

(C) 35 bones (D) None of these

Of the following tvpe of teeth, tell which one is
used for grinding food?

(A) Canine (B) Molar

(C) Milk teeth (D) Incisor

Of the following glands present in the human
body, tell which one is present next to the
brain?

(A) Pancreas (B) Adrenal

(C) Pineal (D) Thyroid

Of the following human bones, tell which one
is of the head:

(A) Coccyx (B) Scapula

(C) Pelvis (D) Skull

Which is the largest gland in the body?
(A) The adrenaline
(B) Liver

© 3

77.

78.

79.

81.

82.

83.

85.

86.

87.

. What is the unit of measuring the energy
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(C) The pituitary gland
(D) Thyroid gland

The human body grows at different paces g
different periods of life, when is its growt
fastest?

(A) Between ages 15 and 21

(B) Between ages 19to 30

(C) Between ages 5 and 13

(D) Between ages 10 and 16

What gives the human brain its energy?
(A) Certain proteins

(B) Glucose

(C) Vitamin C

(D) Phophorus

Where is the thyroid gland located?
(A) In the thighs

(B) In the brain

(C) Near the liver

(D) At the back of neck

requirements of a human body?

(A) Erg (B) Juuie‘
(C) Kilowatt (D) Calorie
PAKISTAN AFFAIRS

Qaim Ali Shah elected as the Chief Minister of
Sindh

(A) 12th April 2008

(B) 11th April 2008

(C) 16th April 2008

(D) 06th April 2008

Nawaz Sharif took oath of office as Prime
Minister of Pakistan for the second time

(A) 13th February 1997

(B) 13th February 1998

(C) 13th February 1999

(D) 13th February 2000

Through 13th amendment Articles 58(2b) and
112(2) (b) were deleted from the constitution
(A) 1st April 1997
(B) 1st April 1998
(C) 1st April 1999
(D) 1st April 2000

Aurangzeb Aalamgir built Shahi Mosque in.
(A) Lahore (B) Thatta
(C) Delhi (D) None

Nuclear device was exploded at Chaaghi on
(A) 28th May 1997 (B) 28th May 1998
(C) 28th May 1999 (D) 28th May 2000

Aurangzeb died in.
(A) 1698 (B) 1700
(C) 1707 (D) 1708

Bahadur Shah Zafar was the last knowd

88.

89.

90.

91.

92,

83.
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Mughal emperor He ascended the throne of
Delhi in the year

(A) 1835 A.D (B) 1837 A.D

(C) 1839 AD (D) 1840AD

Bahadur Shah Zafar declared the Emperor of
India in.

(A) 1856 A.D (B) 1857 A.D

(C) 1859 AD (D) 1860 A.D

The full name of Humayun was

(A) Nasir-ud-Din Muhammad Humayun
(B) Humayun Mughai

(C) Nadir Humayun

(D) Huayun Bahadur

The word Mughal derives from Mongol
meaning any one from:

(A) Western Asia (B) Southern Asia

(C) Central Asia (D) Middle East

ISLAMYAT

The “IFK" event is described in the Qur'an in:
(A) Surah Bagarah (B) Surah Tauba
(C) Surah Noor (D) Surah Yaseen

The Prophet's stamp comprises of these
words:

(A) Allah, Rasool, Muhammad
(B) Muhammad, Rasocol, Allah
(C) Rasool, Muhammad, Allah
(D) Rasool, Allah, Muhammad

95.

96.

97.

88.

99.
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(C) Seven (D) Five -

MAUWAZATAIN means:

(A) A collection of Ahadith

(B) Two specific Surahs of Quran
(C) A book of Jaffariah figh

(D) A book of hanafi figh

Ozza was the name of;

(A) a specific goddess of Quraish
(B) Honour and Respect.

(C) name of a tree

(D) name of a snake

LEA'AN is:

(A) A clause of Islamic law
(B) To receive a reward
(C) A term of trade

(D) To bargain

Ashab-us-sabt means:

(A) Jews (B) Christians
(C) Muslims (D) Sabieen
The number of famous months are:

(A) Four (B) Six

(C) Seven (D) Two

Ghar e Hira is situated in:

(A) Arafat (B) Jabal-e-Noor

(C) Ghare Saur (D) None

100.Which Surah starts without Bismillah:

(A) Al-Bagara (B) Al-Nisa
The heads of Zakat are: (C) Al-Toba (D) Al-lkhlas
(A) Eight (B) Nine
Answer Key
B 14. D 27. C 40. A 53. A 66. D 79. D 92. A
A 156. D 28. A 41. C 54. A 67. C 80. D 93. A
C 16. A 29. A 42, A 55. B 68. D 81. D 94, B
C 17. B 30. B 43. C 56. C 69. C 82. A 95. A
C 18. D 31. C 44, D 57. A 70. D 83. A 96. A
D 19. D 32. A 45. D 58. C 71. C 84. A 97. A
B 20. A 33. D 46. D 59. B 72, A 85. B 98. A
D 21. A 34. A 47. B 60. C 73. A 86. C 99. A
B 22. B 35. D 48. B 61. A 74. C 87. B 100. C
B 23. C 36. B 48. C 62, C 75. D 88. B
D 24. D 37. C 50. B 63. D 76. B 89. A
D 25. C 38. C 51. C 64. D 77. D 90. C
A 26. C 39. A 52. B 65. D 78. B 91. C
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